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Everyone knows calculus deals with deterministic objects. On the other
hand stochastic calculus deals with random phenomena. The theory was intro-
duced by Kiyosi Ito in the 40’s, and therefore stochastic calculus is also called
Ito calculus. Besides its interest in mathematics, it has been used extensively
in statistical mechanics in physics, the filter and control theory in engineering.
Nowadays it is very popular in the option price and hedging in finance. For

example the well-known Black-Scholes model is
dS(t) =rS(t)dt + oS(t)dB(t)

where S(t) is the stock price, o is the volatility, and r is the interest rate,
and B(t) is the Brownian motion. The most important notion for us is the
Brownian motion. As is known the botanist R. Brown (1828) discovered certain
zigzag random movement of pollens suspended in liquid. A. Einstein (1915)
argued that the movement is due to bombardment of particle by the molecules
of the fluid. He set up some basic equations of Brownian motion and use them
to study diffusion. It was N. Wiener (1923) who made a rigorous study of the
Brownian motion using the then new theory of Lebesgue measure. Because of

that a Brownian motion is also frequently called a Wiener process.

Just like calculus is based on the fundamental theorem of calculus, the Ito

calculus is based on the [to Formula: Let f be a twice differentiable function

on R, then
T 1 T
F(B) - FBO) = [ FBEaB0 -+ [ B
0 0
where B(0) = 0 to denote the motion starts at 0. There are formula for

integration, for example, we have

1 1

/OTB(t)dB(t) = §B(t)2 —57; /OT tdB(t) = TB(T) — /OT B(t)dt.

In this course, the prerequisite is real analysis and basic probability theory.

In real analysis, one needs to know o-fields, measurable functions, measures



and integration theory, various convergence theorems, Fubini theorem and the
Radon-Nikodym theorem. We will go through some of the probability theory
on conditional expectation, optional r.v. (stopping time), Markov property,
martingales ([1], [2]). Then we will go onto study the Brownian motion ([2],

[3], [5]), the stochastic integration and the Ito calculus ([3], [4], [5]).






Chapter 1

Basic Probability Theory

1.1 Preliminaries

Let  be a set and let F be a family of subsets of €2, F is called a field if it

satisfies
i) 0, Qe F;
(ii) for any Ae F, A° e F;

(iii) for any A, Be F, AUB € F (hence ANB € F).
It is called a o-field if (iii) is replaced by

(iii)" for any {A,}02, C F, U2 A, € F (hence N2, A, € F).

If @ =R and F is the smallest o-field generated by the open sets, then we
call it the Borel field and denote by B.

A probability space is a triple (2, F, P) such that F is a o-field in 2, and
P : F —[0,1] satisfies
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(i) P(Q) =1

(ii) countable additivity : if {A4,}5°; C F is a disjoint family, then

P({JAn) =) P(An).

We call 2 a sample space, A € F an event (or measurable set) and P a

probability measure on §2; an element w € €2 is called an outcome.

Theorem 1.1.1. (Caratheodory Extension Theorem) Let Fy be a field of
subsets in Q0 and let F be the o— field generated by Fy. Let P : Fy — [0, 1]
satisfies (1) and (i1) (on Fy). Then P can be extended uniquely to F, and
(Q, F, P) is a probability space.

The proof of the theorem is to use the outer measure argument.

Example 1. Let Q = [0,1], let Fy be the family of set consisting of finite
disjoint unions of half open intervals (a,b] and [0,0], Let P((a,b]) = |b — al.
Then F is the Borel field and P is the Lebesgue measure on [0, 1].

Example 2. Let {(Q,,F,, P,)}, be a sequence of probability spaces. Let
Q =112, Q, be the product space and let Fy be the family of subsets of the
form E = Hzo:l E,, where E, € F,, E, = €, except for finitely many n.
Define -
P(E) =[] Pu(En)
n=1

Let F be the o-field generated Fy, then (Q,F, P) is the standard infinite

product measure space.

Example 3. (Kolmogorov Extension Theorem) Let P, be probability mea-
sures on ([[;_, Q, F»,) satisfying the following consistency condition: for m <
n

P, o anfl =P,
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where T, (21 2,) = (T1- - @p). On Q= [[72, Q, we let Fy be the field of
sets ' = E < [[;2, 1 @, £ € F, and let

Then this defines a probability spaces (2, F, P), where F is the o-field gen-
erated by Fjy.

Remark: The probability space in Example 2 is the underlying space for
a sequence of independent random variables. Example 3 is for more general

sequence of random variables (with the consistency condition).

A random variable (r.v.) X on (€2, ) is an (extended) real valued function

X : (2, F) — R such that for any Borel subset B of R,
X HB)={w: X(w) € B} € F.
(i.e. X is F-measurable). We denote this by X € F. It is well known that

— For X € F, X is either a simple function (i.e., Y ,_, apXxa,(w) where

Ay € F), or is the pointwise limit of a sequence of simple functions.
— Let X € F and g is a Borel measurable function, then g(X) € F.
— If{X,} C F and lim, ,,, X,, = X, then X € F.

— Let Fx be the o-field generated by X, i.e., the sub-o-field {X1(B): B €
B}. Then for any Y € Fx, Y = ¢(X) for some extended-valued Borel function
¢ on R.

Sketch of proof ([1, p.299]): First prove this for simple r.v. Y so that
Y = p(X) for some simple function ¢. For a bounded r.v. Y > 0, we can

find a sequence of increasing simple functions {Y,,} such that Y,, = ¢, (X) and
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Y, /Y. Let o(z) = lim,p,(z), hence Y = ¢(X). Then prove Y for the

general case.

Arv. X : (2, F) — Rinduces a distribution (function) on R:
F(z) = Fx(z) = P(X <ux).

It is a non-decreasing, right continuous function with lim,_, ., F(z) =0,

lim,, o, F'(z) = 1. The distribution defines a measure

p((a,b]) = F(b) — F(a)

(use the Caratheodory Extension Theorem here). More directly, we can define
fv by
u(B) =P(X"1(B)), BeB

The jump of F at zis F(x)— F(z—) = P(X = z). Ar.v. X is called a discrete
if F'is a jump function; X is called a continuous r.v. if F'is continuous, i.e.,
P(X =z) =0 for each x € R, and X is said to have a density function f(z) if

F' is absolutely continuous with the Lebesgue measure and f(z) = F'(x) a.e.,

equivalently F(z) = [ f(y)dy.

For two random variables X,Y on (€2, F), the random vector (X,Y) :
(2, F) — R? induces a distribution F' on R?

F(z,y)=P(X <z, Y <y)

and F is called the joint distribution of (X,Y), the corresponding measure
is given by

u((a,b] x (¢,d]) = F(b,d) — F(a,d) — F(b,¢) + F(a,c),

Similarly we can define the joint distribution F'(zy---z,) and the correspond-

ing measure.
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For a sequence of r.v., {X,,}°°,, there are various notions of convergence.

(a) X, — X ae. (oras.) iflim, . X,(w) = X(w) (pointwise) for w € Q\ E
where P(E) = 0.

(b) X,, — X in probability if for any € > 0, lim,_,o P(|X, — X|>¢€) =0.

(¢) X, — X in distribution if F,,(z) — F(x) at every continuity point = of
F. Tt is equivalent to pu,, — p vaguely i.e., u,(f) — p(f) for all f € Cy(R),

the space of continuous functions vanish at co (detail in [1]).

The following relationships are basic ([1] or Royden): (a) = (b) = (c);
(b) = (a) on some subsequence. On the other hand we cannot expect (c)
to imply (b) as the distribution does not determine X. For example consider
the interval [0, 1] with the Lebesgue measure, the r.v.’s X; = X(0.1]; Xy =
XL ) X3 = X011 T X2 1 all have the same distribution.

The expectation of a random variable is defined as

B(X) = [ X)) = [~ aaf@) (= [~ sdu(o)
and for a Borel measurable h, we have
B((X)) = [ WX @)iPE) = [ hadF(a).
The most basic convergence theorems are:
(a) Fatou lemma:
X, >0, then E(lim,, X,) < lim, FE(X,).

(b) Monotone convergence theorem:

X, >0, X, /X, then lim E(X,)= E(X).

n—oo



10 CHAPTER 1. BASIC PROBABILITY THEORY

(c) Dominated convergence theorem:

| Xn| <Y, E(Y) <oo and X,, - X a.e.,, then lim E(X,)= E(X).

n—o0

We say that X,, — X in LP,p > 0 if E(|X|?) < co and E(|X,, — X|?) = 0
as n — oo. It is known that LP convergence implies convergence in probability.
The converse also holds if we assume further E(|X,|?) — E(|X?) < oo ([1],
p.97).

Two events A, B € F are said to be independent if
P(ANB) = P(A)P(B).

Similarly we say that the events Aq,---A, € F are independent if for any
subsets A;,,--- , A

Jk>
k k

i=1 i=1

Two sub-o-fields F; and F, are said to be independent if any choice of two sets
from each of these o-fields are independent. Two r.v.’s X,Y are independent
if the o-fields Fx and Fy they generated are independent. Equivalently we
have

PX <z, Y <y)=PX <z) P(Y <y),

(i.e., the joint distribution equals the product of their marginal distributions).
We say that X; --- X, are independent if for any X;, --- X, , their joint distri-

bution is a product of their marginal distributions.

Proposition 1.1.2. Let X,Y be independent, then f(X) and g(Y) are inde-

pendent for any Borel measurable functions f and g.
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Exercises

1. Can you identify the interval [0, 1] with the Lebesgue measure to the prob-

ability space for tossing a fair coin repeatedly?
2. Prove Proposition 1.1.2.
3. Suppose that sup,, |X,| <Y and E(Y) < co. Show that
E(lim, 00 X,) > limy, 0 B(X,)
4. If p > 0 and E(|X?) < oo, then lim,, o 2?P(|X| > ) = 0. Conversely, if
lim,, oo 2P P(|X| > ) = 0, then E(|X[P™°) <ocofor0<e<p.
5. For any d.f. F' and any a > 0, we have

/_OO (F(x+a)— F(x))dx =a

[e.e]

6. Let X be a positive r.v. with a distribution F', then
/ (1 - F(x)) dx:/ x dF(x).
0 0

E(X):/OOOP(X>3:) dx:/OOOP(sz) da

and

7. Let {X,} be a sequence of identically distributed r.v. with finite mean,
then
1
lim —F( max |X;|) = 0.
non

1<j<n

(Hint: use Ex.6 to express the mean of the maximum)

8. If X, X5 are independent r.v.’s each takes values +1 and —1 with prob-
ability %, then the three r.v.’s {Xj, Xy, X1 X5} are pairwise independent but

not independent.

9. A r.v. is independent of itself if and only if it is constant with probability
one. Can X and f(X) be independent when f € B?
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10 . Let {X;}}_, be independent with distributions {F;}7_,. Find the distri-

bution for max; X; and min; X;.

11. If X and Y are independent and E(|X + Y|’) < oo for some p > 0, then
E(|X]|P) < o0 and E(]Y]?) < 0.

12. If X and Y are independent, E(|X|P) < oo for some p > 1, and E(Y) = 0,
then E(|X +Y?) > E(|X 7).
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1.2 Conditional Expectation

Let A € F with P(A) > 0, we define

P(ANE)

P(EIN) = =55

where P(A) > 0.

It follow that for a discrete random vector (X,Y),

PY =y, X=u1x)
0, otherwise.

if P(X=2)>0,

Moreover if (X,Y") is a continuous random variable with joint density f(z,y),

the conditional density of Y given X =z is

f(z,y) y ;
Fyle) = { fx(@) fx(x) >0,
0, otherwise .

where fx(z) = [*_ f(z,y)dy is the marginal density. The conditional expec-

tation of Y given X =z is

BYVIX=2) = [ uftia)dy
Note that
g(x) = E(Y|X ==x) isa function on x ,
and hence

9(X(+)=EY|X()) isarv.on Q. (1.2.1)

In the following we have a more general consideration for the conditional
expectation (and also the conditional probability): E(Y'|G) where G is a sub-
o-field of F.

First let us look at a special case where G is generated by a measurable

partition {A,}, of ©Q (each member in G is a union of {A,},). Let Y be an
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integrable r.v., then

E(Y|A,) = / Y (w)dPy, (w) = P(j\n) /A Y (w)dP(w). (1.2.2)

Q

(Here Py, (+) = W is a probability measure for P(A,) > 0). Consider

the random variable (as in (1.2.1))
Z(-) = E(Y[G)() = Y E(Y[A)xa, () €G.
It is easy to see that if w € A, then Z(w) = E(Y|A,), and moreover

/QE(Y]g)dP:Z/A E(Y|G)dP = E(Y|A,)P(A,) :/QYdP.

We can also replace €2 by A € G and obtain

/E(Y|g)dP:/YdP VAEG.
A A

Recall that for p, v two o-finite measures on (€, F) and p > 0, v is called
absolutely continuous with respect to p (v < p) if for any A € F and
p(A) =0, then v(A) = 0. The Radon-Nikodym theorem says that there exists

d
g= Y such that
dp

V(A):/gdu V Ae F.
A

Theorem 1.2.1. If E(|Y]) < oo and G is a sub-o-field of F, t hen there
exists a unique G-measurable r.v., denote by E(Y|G) € G, such that

/YdP:/E(Y|g) AP VY A€EG.
A A

Proof. Counsider the set-valued function

y(A)—/YdP Aeg.
A
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Then v is a “signed measure” on G. It satisfies
PA)=0 = v(A) =0.

Hence v is absolutely continuous with respect to P. By the Radon-Nikodym

theorem, the derivative g = j—]‘; € G and

/YdP:v(A):/gdP V Aeg.
A A

This g is unique: for if we have g, € G satisfies the same identity,

/YdP:v(A):/gldP vV Aeg.
A A

Let A ={g > g1} € G, then [, (g — g1)dP = 0 implies that P(A) = 0. We can
reverse g and g, and hence we have P(g # ¢;) = 0. It follows that g = ¢; G-a.e.

Definition 1.2.2.  Given an integrable r.v. Y and a sub-o-field G, we say
that E(Y'|G) is the conditional expectation of Y with respect to G (also denote

by Eg(Y') ) if it satisfies
(o) E(Y|G) €
(b) [(YdP = [, E(Y|G)dP YV Aeg.

If Y =xa € F, we define P(A|G) = E(xalG) and call this the conditional
probability with respect to G.

Note that the conditional probability can be put in the following way:
(o) P(A[G) €G
(b) P(ANA)= [, P(A|G)dP V Aeg.

It is a simple exercise to show that the original definition of P(A|A) agrees

with this new definition by taking G = {0, A, A, Q}.
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Note that E(Y|G) is “almost everywhere” defined, and we call one such
function as a “version” of the conditional expectation. For brevity we will not
mention the “a.e.” in the conditional expectation unless necessary. If G is the
sub-o-field Fx generated by a r.v. X, we write E(Y|X) instead of E(Y|Fx).
Similarly we can define E(Y| Xy, -, X,).

Proposition 1.2.3. For E(Y|X) € Fx, there exists an extended-valued Borel

measurable ¢ such that E(Y|X) = p(X), and ¢ is given by

_dA

(70_@7

where \(B) = fX*l(B) YdP, B € A, and u is the associated probability of the
r.v. X on R.

Proof. Since E(Y|X) € Fx, we can write E(Y|X) = ¢(X) for some Borel
measurable ¢ (see §1). For A € F, there exists B € B such that A = X 1(B).

Hence

J E0X0aP = [ xo(X)e(x)aP = [ xn(X)pX0dn = [ ol

B

On the other hand by the definition of conditional probability,

/AE(Y|X)dP = / YdP = \(B).

X-1(B)

d\
It follows that A\(B) = [, ¢(x)du for all B € B. Hence ¢ = —— O

dp
The following are some simple facts of the conditional expectation:

— If G ={¢,Q}, then E(Y]|G) is a constant function and equals E(Y).

— If G ={¢,A, A%, Q}, then E(Y|G) is a simple function which equals

E(Y|A) on A, and equals E(Y|A€) on A€,
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— IfGg=ForY €g, then E(Y|G) =Y.

— If (X,Y) has a joint density function, then E(Y|X) coincides with the

expression in (1.2.1).

Using the defining relationship of conditional expectation, we can show
that the linearity, the basic inequalities and the convergence theorems for E(-)

also hold for E(- |G). For example we have

Proposition 1.2.4. (Jensen inequality) If ¢ is a conver function on R, and

Y and p(Y') are integrable r.v., then for each sub-o-algebra G,

p(E(Y]G)) < E(p(Y)IG)

Proof. If Y is a simple r.v., then Y = Z?Zl yixa,; with A € F. Tt follows that

E(YI0) = Y B, 9) = > ;P (¥, 6)

and
n

E(p(Y)IG) = Y o(y;)P(Ya,]9)-

j=1

Since )7, P(A;|G) = 1, the inequality holds by the convexity of .

In general we can find a sequence of simple r.v. {Y,,} with |Y,,| < |V
and Y,, — Y, then apply the above together with the dominated convergence

theorem. [l

Proposition 1.2.5. Let Y and Y Z be integrable r.v. and Z € G, then we

have

E(YZ|G) = ZE(Y|G).
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Proof. It suffices to show that for Y, Z > 0

/ZE(Y|g)dP = / ZYdP VY A€G.
A A

Obviously, this is true for Z = xa, A € G. We can pass it to the simple
r.v. Then use the monotone convergence theorem to show that it hold for all

Z > 0, and then the general integrable r.v. 0

Proposition 1.2.6. Let G; and Gy be sub-o-fields of F and G C Go. Then

for'Y integrable r.v.
E(E(Y]G:)|G1) = E(Y|G1) = E(E(Y]G1)[G2)- (1.2.3)

Moreover

E(Y|G) = E(Y|G) iff E(Y|Gs) € Gi. (1.2.4)

Proof. Let A € Gy, then A € G,. Hence

| EEIg) 6P - [

A

E(Y|Qg)aZP:/YalP:/E(Y|Ql)0lP7
A A

and the first identity in (1.2.3) follows. The second identity is by E(Y|G1) € G2
(recall that Z € G implies E(Z|G) = Z).

For the last part, the necessity is trivial, and the sufficiency follows from

the first identity. O

As a simple consequence, we have

Corollary 1.2.7. E(E(Y|X1,X2)|X1) = E(Y’Xl) = E(E(Y|X1)|X1,X2)
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Exercises

1. (Bayes’ rule) Let {A,} be a F-measurable partition of Q and let F € F
with P(E) > 0. Then

P(Ay) P(E[A)

POMIE) = S pR, ) P(EIAL)

2. If the random vector (X,Y") has probability density p(z,y) and X is inte-
grable, then one version of E(X|X +Y = z) is given by

/xp(x, 2~ ) | /p(x, )

3. Let X be ar.v. such that P(X >t) =e¢™ %, t > 0. Compute F(X|X Vt)
and E(X|X At) for t > 0. ( Here V and A mean maximum and minimum

respectively.

4. If X is an integrable r.v., Y is a bounded r.v., and G is a sub-o-field, then

E(E(X|9)Y) = E(XE(Y|9)).

5. Prove that var(E(Y]G)) < var(Y).

6. Let XY be two r.v., and let G be a sub-o-field. Suppose
E(Y?G)=X? EY|G) =X,

then Y = X a.e.

7. Give an example that E(E(Y|X)|X2) # E(E(Y|X2)|X1). (Hint: it suf-
fices to find an example E(X|Y') # E(E(X|Y)|X) for Q to have three points).
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1.3 Markov Property

Let A be an index set and let {F, : & € A} be family of sub-o-fields of F. We

say that the family of F,’s are conditionally independent relative to G if for

any \; € F, i =1,---,n,

P(ﬁ AjlG) = T Pilg). (1.3.1)

J=1

Proposition 1.3.1. For o € A, let F(®) denote the sub-o-field generated by
Fs, B € A\{a}. Then the family {F,}o are conditionally independent relative
to G if and only if

P(A| F9vG)=P(Al G), AeF,

where F) v G is the sub-o-field generated by F* and G.

Proof. We only prove the case A = {1,2}, i.e.,
P(Al FovG)=P(A G), AeF. (1.3.2)

The general case follows from the same argument. To prove the sufficiency, we

assume (1.3.2). To check (1.3.1), let A € Fi, then for M € F;,
P(ANM |G) = E(P(ANM |F,VG)|G)

(P(A] Fo vV G)xmlG)

(P(Al G)xumlg)  (by (1.3.2))

(A G)P(M] G).

E
E
P

Hence F; and F; are G-independent.

To prove the necessity, suppose (1.3.1) holds, we claim that for A € G,
A e Fpand M € F,

/ P(AIG) dP—/ P(A| Fo v G) dP

MNA



1.3. MARKOV PROPERTY 21

Since the sets of the form M NA generate GV Fa, we have P(A|G) = P(A| FoV
G). ie., (1.3.2) holds.
The claim follows from the following: let A € F;, M € F3, then
E(P(AG)xu|G) = P(AG)P(M]|G)
=P(ANM|G) (by (1.3.1))
= E(P(ARV GxulG) O

Corollary 1.3.2. Let {X,}aea be a family of r.v. and let F, be the sub-o-
field generated by X,. Then the X,’s are independent if and only if for any
Borel set B,

P(X, € B|F®) = P(X, € B).

Moreover the above condition can be replaced by: for any integrable Y € F,,

E(Y|F®) = E(Y).

Proof. The first identity follows from Proposition 1.3.1 by taking G as the
trivial o-field. The second one follows from an approximation by simple func-

tion and use the first identity. U

To consider the Markov property, we first consider an important basic case.

Theorem 1.3.3. Let {X,}°°, be a sequence of independent r.v. and each X,
has a distribution p, on R. Let S, = Z?Zl X,. Then for B € A,

P(Sn € B ‘ Sl,"' ,Sn_l) = P(Sn e B | Sn—l) :,U/n(B—Sn_ﬁ

(Hence S,, is independent of Sy, -+ ,Sn_o given S,_1.)
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Proof. We divide the proof into two steps.

Step 1. We show that
P(X1—|—X2 eB | Xl) :[LQ(B—Xl)

First observe that py(B — X;) is in Fx,. Let A € Zx,, then A = X;'(A) for

some A € A, and

/A (B - X;) dP = / (B = 2) dyus (1)

([t

= // d(pn X p2)(z1, 22)
r1€A, x1+12€B
= P(XleA, X1+X2€B)

_ /P(X1+X2 € B| Zy,) dP
A
This implies that u(B— X;) =P(X1+ X, € B| Xy) .

Step 2. The second equality in the proposition follows from Step 1 by
applying to S,,_; and X,,. To prove the first identity, we let ™ = p; x---x p,, =
Pt X . Let Bj € B, 1< j <n—1, andlet A = (V)2 S;'(B;)) €
F(S1,-++,Sn-1). We show as in Step 1,

/,un(B — Snfl) dP = / P(Sn S B’Sl, tee ,Snfl) dP
A

A

and the identity p,(B — S,—1) = P(S, € B|S1, -+ ,S,-1) follows. O

Definition 1.3.4. We call a sequence of random variables { X,,}5°, a (discrete
time) stochastic process. It is called a Markov process (Markov chain if the

state space is countable or finite) if for any n and B € B,

P(Xpi1 € B|Xo, -+, Xp) = P(Xni1 € B|X,).
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Let I € Ny := NU {0} and let F; denote the sub-o-field generated by
Fn, n € 1. Typically, I = {n}, or [0,n], or (n,00); F, denotes the events
at the present, Fj, denotes the events from the past up to the present, and
Fln,oo) denotes the events in the future. The above Markov property means

the future depends on the present and is independent of the past.

One of the most important examples of Markov process is the sequence

{Sn}>, in Theorem 1.2.3.

Theorem 1.3.5. Let {X,}>2, be a stochastic process, then the following are

equivalent:
(a) {X,}22, has the Markov property;
(b) P(M|.7-"[O,n]) = P(M|X,) for alln € N and M € Fno0);

(C) P(Ml N Mg |Xn) = P(Mlan) P(MQ‘XTL) fOT’ all M1 S ./T'-[o’n}, M2 S
Fnoo) and n € N.

The conditions remain true if F{, o is replaced by Fp, o) (Exercise). Con-
dition (c) can be interpreted as conditioning on the present, the past and the

future are independent.
Proof. (b) = (c). Let Y; = xa, with My € Fjo), My € Fnoo), then

P(Mi|X,) P(Ma|Xy) = E(V1]Xy) E(Y2|X,) = EMVE(Y2]X0)[X0)
= E(}/IE(}/Q|‘EO,n])|Xn) = E(E(Y1YZ|]:[O,H})|XN)

= E(W1Ya|X,) = P(MyN M, |X,,).

(c) = (b). Let A € Fjp,) be the test set, and let Y7 = xa, Yo = xu €
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]:(0700). Then

[ PQMIX,) 4P = BUEMIX) = B(EGERIX)IX)
— B(EMIX)E(YIX,) = E(EVY|X,)
_ / P(A N M|X,) dP = P(A N M).
Q

This implies P(M|X,,) = P(M|Fjo.n))-
(b) = (a) is trivial.

(a) = (b). We claim that for each n,
E(Y|Fon) = EY| X,) VY€Fuinng kF=1,2,---. (1.3.3)
This will establish (b) for M € (Jp_; Fnntr); this family of M generates

JT"(O’OO).

Note that the Markov property implies (1.3.3) is true for £k = 1. Suppose
the statement is true for k, we consider Y = Y1Yy € Fpq1nqry1) , Where

Y1 € Fluvinsn and Ys € Frqpyr. Then

EY|Fon) = E(EY|Fontw) | Fon)
Yo|Fomn+k)) | Fon))
Yo|Frsr) | Fom)) (by Markov)

I
=
e

— E —

Yo |Foik) | Fn) (by induction)
= B(YiE(alFunin) | Fom)  (by Markov)

This implies the inductive step for Y = xannm, = Xan X with M; €
Fintintk) and My € F,1py1. But the class of all such Y generates F, 11,544

This implies the claim and completes the proof of the theorem. O
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The following random variable plays a central role in stochastic process.

Definition 1.3.6. A r.v. o : Q — Ny U {oo} is called a stopping time (or

Markov time or optional r.v. ) with respect to { X}, if

{w:a(w) =n} € Fou for each n € NyU{oo}.

It is easy to see the definition can be replaced by {w : a(w) < n} € Fyn-

In practice, the most important example is: for a given A € B, let
as(w) =min{n >0: X,(w) € A}.

(a(w) = oo if X, (w) € A for all n.) This is the r.v. of the first time the

process { X, }2°, enters A. It is clear that
n—1
{w: aaw)=n}=(V{w: X;w) € A°, X,(w) € A} € Fou,
=0

and similarly for n = co. Hence a4 is a stopping time.

Very often « represents the random time that a specific event happens,
and {Xa4,}5%, is the process after the event has occurred. We will use the

following terminologies:
— The pre-a field F, is the sets A € Fg ) of the form

A= | Ha=ntnAt, Ay € Fou (1.3.4)

0<n<oo

It follows that A € F, if and only if {a =n} N A € F, for each n.

— The post a-process is { Xoyy }o2q Where Xy (w) = Xo(w)+n(w). The post-a
field F,, is the sub-o-field generated by the post-a process.
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Proposition 1.3.7. Let {X,,}°°, be a stochastic process and let o be a stopping
time. Then a € F, and X, € F,.

Proof. For a to be F,-measurable, we need to show that {a = k} € F,. This
follows from (1.3.4) by taking A, = () for n # k and Ay, = Q.

That X, € F, follows from
{w: X,(w) € B} = U{w ca(w) =n, X,(w) € B} € F,

for any Borel set B € B. O

Theorem 1.3.8. Let {X,}32, be a Markov-process and « is an a.e. finite

stopping time, then for each M € F,

P(M|F,) = P(M| a, X,). (1.3.5)
We call this property the strong Markov-property.

Proof. Note that the generating sets of F,, are M = ﬂé-:l X, L(B)), B; € B.

Let M, = ﬂ;zl X;jj(Bj) € Fin,x), We claim that

P(M| o, Xo) =Y P(My|X0)X{azn}- (1.3.6)

n=1
Indeed if we consider P(M,|X,,) = ¢, (X,), thenitis clear Y | ©,,(Xn)X{a=n}
is measurable with respect to the o-field generated by o and X,. By making

use of Theorem 1.3.5(b), we have

o0

/ > P(M,| X)X (amny AP = / P(My| X)) dP
{a=m, Xa€B} ;1 {a=m, XmeB}

= / P(Mm|f[0’m]) dP
{a=m, X, €B}
= PH{a=m, X,, € B} NM,)

= PH{a=m,X,€ B}nNM).
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(The last equality is due to M,,, N {a = m} = M N{a =m}). Hence the claim

follows.

Now to prove the theorem, let A € F,, A = ,({a =n}NA,), then

P(ANM) = f: P({a =n, A} N M)

n=0
= Z/{ P(M,|Fpn) dP
n=0

a=n}NAy,

- Z//\P(Man”)X{a:”} dP (by Theorem 1.3.5(b))
_ /P(Mn| 0, X,) AP (by (1.3.6)).

The theorem follows from this. O

We remark that when « is the constant n, then we can omit the o in (1.3.5)
and it reduces to the Markov property as in Theorem 1.3.5. Also if the process
is homogeneous (i.e., invariant on the time n), then we can omit the « there.
It is because in (1.3.6), the right side can be represented as >~ | ©(X,)X{a=n}
(instead of ¢, (X,,)) which is F,-measurable. In this case we can rewrite (1.3.5)

as

P(Xoas1 € B|F,) = P(Xo1 € B|X,) VBEDB,

a direct analog of the definition of Markov property.

There is a constructive way to obtain Markov processes. For a Markov
chain {X,}>°,, we mean a stochastic process that has a state space S =

{ai,as,--+ ;an} (finite or countable) and a transition matrix

P11 -+ DPIN

PN1 - PNN
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where p;; > 0 and the row sum is 1; the p;; is the probability from ¢ to j.
Suppose the process starts at X, with initial distribution g = (pq,- -+, pun),
let X,, denote the location of the chain at the n-th time according to the

transition matrix P, then {X,,}5°, satisfies the Markov property:
P(Xn+1 = xn-{—l’XO = Tog," 7Xn = an) = P(Xn+1 = xn—l—l’Xn - xn) = Dij-
Also it follows that

P(Xo =m0, X1 =21, , Xpy = 1,)
= P(XO = Io)P(Xl = I'1|X0 = (L’Q) cee P(Xn = xn|Xn—1 = In_l)

= MHzoPzoz1 " Prrn_12n-

More generally, we consider the state space to be R. Let u: R x B — [0, 1]

satisfies
(a) for each =, p(z,-) is a probability measure;
(b) for each B, u(-, B) is a Borel measurable function.

Let {X,}>, be a sequence of r.v. with finite dimensional joint distributions
p™ for X, -+, X, given by

n

P(({X; € Bj}) = n"(Byx -+ x By)

= / .. / /Lo(dx(])ﬂ(xO, dml) te M(wnfla dfﬂn)
BoXx:--XBp,

where pi is the distribution function of Xj.

It is direct to check from definition that

P(Xn1 € BlXy) = p(Xy, B),



1.3. MARKOV PROPERTY 29

Figure 1.1:

ie.,

P(X,41 € B|X,, =2) = p(z,B).

Hence p(x, B) represents the probability that in the (n + 1)-step the chain is
in B, starting at x in the n-th step. To see that {X,,}22, satisfies the Markov
property, we let A = (7_o{X; € B}, then

/P(Xnﬂ € B|X,) dP = // p(z, B) dp™ (o, -+, xn)
A Box---XBp,
n+1
= dx w(xi_q,dz;
/ /Bo>< Bn><B ( O)H (] ' ])

j=1
This implies
P(Xni1 € BlXy) = P(Xpp € B Xy, -+, Xp)

and the Markov property follows.

We call the above {X,,}°°, a stationary (or homogeneous) Markov process

and p(x, B) the transition probability.
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Exercises

1. Let {X,}>°, be a Markov process. Let f be a one-to-one Borel measurable
function on R and let Y,, = f(X,,). Show that {Y},}>°, is also a Markov process
(with respect to the fields generated by f(X,)); but the conclusion does not

hold if we do not assume f is one-to-one.
2. Prove the strong Markov property in the form of Theorem 1.3.5(c).

3. If oy and ap are both stopping times, so are a; A ag, a1 V g and aq + .

However oy — aip is not necessary a stopping time.

4. Let {X,};2, be a sequence of ii.d.r.v. Let {ap};2, be a sequence of
strictly increasing finite stopping times. Then {X,, 11}32, is also a sequence

of i.i.d.r.v. (This is the gambling-system theorem given by Doob).

5. A sequence {X,}22, is a Markov chain of second order if
P(Xn+l - ]lXO - io, T 7Xn - Zn) - P(Xn+1 - j|Xn—1 - Z.n—l,Xn - Zn)

Show that nothing really new is involved because the sequence (X, X,,+1) is

a Markov chain.

6. Let u"(z, B) be the n-step transition probability in the stationary Markov

process. Prove the Chapman-Kolmogorov equation

™ (z, B) = /M(m)(w,d@/)u(")(yv B)  VmmneN.
R
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1.4 Martingales

We first consider a simple example in analysis. Let f be an integrable function
on [0,1], let P, = {0 = <..- < £... <1} be a partition of [0,1] and let

I, = [ﬁ w) We define the average function f, of f on the partition P,:

2m7 2n
on—1
fn($> = Z Qnke XInp > T € In,k- (141)
k=0
where a,,; = IIn_lk\fInk f(x)dz. Then {f,}, converges to f in L'. Moreover

{fn}n has the following consistency property: for m > n

1
|In,k|

This property has been reformulated by Doob in the more general probability

fn(x) =

/fm(y)dy x € Iy (1.4.2)
Lnk

setting.

Definition 1.4.1. Let {(X,, F,)}>>, be a sequence of r.v. such that X,, € F,.

It is called a martingale if
(a) Fn, C Fpia;
(b) E(|Xnl) < oo;
(¢) Xn = E(Xna|F).

It is called a supermartingale (or submartingale) if > (or < respectively) in

(c) holds. We will call { X, }n, a s-martingale if it is any one of the three cases.

Condition (c) can be strengthened as X,, = E(X,,|F,) for m > n. It

follows from

E<Xm|fn> = E(E(Xm|fm—1)|fn) = E(Xm—1|fn> == E(Xn|fn) =Xy .

Martingale has its intuitive background in gambling. If X, is interpreted

as the gambler’s capital at time n, then the defining property says that his
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expected capital after next game, played with the knowledge of the entire
past and present, is exactly equal to his current capital. In other words, his
expected gain is zero, and is in this sense the game is said to be “fair”. The

supermartingale and submartingale can be interpreted similarly.

Example 1. As a direct analog of the above function case, we let X be an
integrable r.v. and let {F,}2, be an increasing sequence of sub-o-fields (e.g.,
take F,, to be a partition). Let X,, = E(X|F,). Then {X,,}> is a martingale.

Indeed we see that
E(1Xa]) = E(IE(X]Fa)]) < E(E(1X][Fa)) = E(|X]) < o0
and (b) follows. For (c), we observe that

B(Xa1F) = BOE(X|Fpa)|Fa) = E(X|Fa) = X

Example 2. Let {X,}32, be a sequence of independent integrable r.v. with
mean zero. Let S,, = Z;'L:1 X, and F, = F(Xy, -+, X,). Then
E(Sn+1‘./7n) - E(Sn + Xn+1|‘Fn)
= S+ E(Xu1|Fn)
- Sn + E(Xn+1>

= Sh

Hence {(S,, Fn)} is a martingale.

Proposition 1.4.2. If {(X,,F,)}>, is a submartingale, and ¢ is increas-
ing and conver in R. If {¢(X,)} is integrable, then {(v(X,),Fn)} is also a
submartingale.

Proof. Since X,, < F(X,41|F,), by the property of ¢, we have

P(Xn) < p(BE(Xnp1]Fn)) < E(e(Xng1)|Fn) O
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It follows that if { X, }°° ; is a martingale (or submartingale), then {| X,,|P}>°,, p >
1 (provided that X,, € L?) and {X, }°°, are submartingales. Also if {X,} is

a supermartingale, so does {X,, A a}, for any a € R.

Theorem 1.4.3. (Doob’s decomposition Theorem) For any submartingale

{(Xn, Fn) 22, X, can be decomposed as

where {(Yy,, Fu)}o2, is a martingale and {Z,} is a non-negative increasing

PTocCeSss.

Proof. We define the difference r.v.
Di=Xy, Dj=X,—X,.1, j=>2
Then X, = 22;1 D;, and the defining relation of submartingale yields
E(D;|F;—1) >0, j>2. (1.4.3)
We consider yet another difference
S1 =Dy, S;=D;j— E(D;|F;-),

and let

n n

Yo=Y _S;,  Z,=) E(Dj|F-1).

j=1 j=1
It is clear that X, =Y, + Z,, X; = Y1, Z; =0 and {Z,}°°, is a non-negative
increasing process (by (1.4.3)). On the other hand, note that E(S;|F;_1) = 0,
it follows that

—_

n—

E(Y,|F.-1) = S; =Y,

1

J

and hence a martingale. U
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For an increasing family of sub-o-fields {F,}52,, let Foo = U ., F» and
let a be a stoping time with respect to {F,}5,, i.e.,
a:Q—NU{oco} suchthat {a=n}eF,
As in last section, the pre-a field F, is the family of sets

A={J{a=n}nA,), A €F.

The following theorems aim at replacing the constant time of a martingale by

a stoping time.

Theorem 1.4.4. LetY be integrable r.v. and let X,, = E(Y|F,) where F, is
an increasing family of sub-o-fields (it is a martingale). Then for any stopping

time a, we have X, = E(Y|F,).

Moreover if B is also a stopping time and o < 3, then {(Xa, Fo), (Xs, F5)}
is a two term martingale (i.e., X, = E(Xg|Fa)).
Proof. Note that X, € F,. We claim that it is also integrable. Indeed as

| Xnl = [E(Y]F)| < E(|Y]|F),

we have

/|Xa|dP = Z/ | X, |dP < Z/ Y'|dP :/ Y|dP < co.

Q n J{a=n} n Jia=n} Q
Now if A € F,, let A,, = AN {a =n}, then
X, dP = / X,dP = / YdP:/YdP.

Hence X, = E(Y|F,) -

For the last statement, note that F, C Fjs, hence

E(Xg|Fo) = E(E(Y|Fs)|Fa) = Xa- U
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Corollary 1.4.5. Under the above assumption and suppose {a;}2, is an in-
creasing sequence of stopping times. If {(X,, Fn)}tn is an s-martingale, then

{(Xa,, Fa;) }i is an s-martingale.

Unlike Theorem 1.4.4, in the following theorem, we do not assume that the

{X,} is the conditional expectation of an integrable Y.

Theorem 1.4.6. Let {(X,,, F,)}n be a s-martingale. Let o < B be two bounded
stopping times, then {(Xa, Fo), (Xp, Fp)} is also an s-martingale (of the same

type).

Proof. We prove the theorem for supermartingale. For submartigale, we

consider {—X,,} instead.

Let A € F,, and let A; = AN{a =j} (€ F;). Then for k > j, A, n {8 >
k} € Fi, hence

/ XpdP = / Xde—l-/ XidP
A;n{B>k} Ajn{B>k} A;n{B=k}

/ Xp1dP + / XpdP
Ajn{B>k} A;n{B=k}

Y

ie.,

/ Xde—/ Xg1dP 2/ XgdP
A;jn{B>k} AjN{B>k+1} An{B=k}

Summing over k, j < k < m, where m is the upper bound of 3, then

/ X,dP — / X1 dP > / XydP
A;n{B=>5} Ajn{B>m+1} A;n{j<B<m}

Hence

/XadPZ/ XpdP
A A

Summing over 1 < j < m,we have

/XadPE/XﬂdP VAeF,. U
A A
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Corollary 1.4.7. If {(X,,F.)} is a martingale or a supermartingale, then
the same is for {(Xaan, Farn)} for any stopping time a.

The theorem still holds if o, # are unbounded. For this we need to associate

a random variable X, at oco.

Theorem 1.4.8. Assume lim,,_,,, X,, = X exists and is integrable. Let o,
be two arbitrary stopping times. Then Theorem 1.4.6 still hold if {(X,, Fn) tnena

1S a supermartingale.

Proof. We first assume that X,, > 0 and X, = 0. Then X, < liminf,, .o Xaorn,

and hence X, is integrable by Fatou’s lemma. The same is for Xpg.

From the proof of Theorem 1.4.6, we can conclude that for any m

/ X,dP > / XydP |
An{o=j} An{a=j}n{B<m)

By letting m — oo and summing over all j, we have

/ X dP > / XgpdP .
An{a<oo} An{B<co}

In addition we have X, = Xo = 0 on {a = oo}, and X3 = X, = 0 on
{8 = 0o}, We conclude that

/ X,dP = / XsdP
A A
and hence {(X,, F.), (Xp,Fs)} is a supermartingale.
For the general case we let
X' = B(Xo|F), X'=X,—X_.

Then {X/} is a martingale, and X,, > X/ by the defining property of super-
martingale apply to X,, and X,. We can apply the above proved case to X/,

and conclude that {X,,} is a supermartingale. O
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The above theorems are referred as Doob’s optional sampling theorems. In
terms of gambling, one would hope to devise a strategy to gain advantage of
the outcome, but the theorems say that such a strategy does not exist, at least
mathematically. The reader can refer to [1, p.327](and the exercises there) for

a discussion of the gambler’s ruin problem.

We use the above stopping time consideration to prove a useful inequality

for sub-martingales.

Theorem 1.4.9. If {(X;, F;)}i—, is a submartingale, then for any real \, we

have

A P(max X; > \) < / X,.dP < E(X]).
{max;<j<n X;>A}

1<j<n

Proof. Let a be the first j such that X; > A if such 1 < 57 < n exists,
otherwise let a = n. It is clear that « is a stopping time, and hence {X,, X, }

is a submartingale (Theorem 1.4.6). If we write

M = {max X; > A},

1<j<n

then M € F, and X, > X on M, hence the first inequality follows from

AP(M) < / X, dP < / X,.dP.
M M

The second inequality is clear. L.

Corollary 1.4.10. If {(X,, Fn)}%, is a martingale, then for any A > 0, we

have

1
P(max |X;| > A) g/ [ XuldP < S E(|X,]) -
{maxi<j<n | X;[>A} A

1<j<n

In addition if E(|X,|?) < oo, then we also have

1
P(max | X;| > \) < §E<‘Xn|2> :

1<j<n
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For a sequence of independent r.v. {X,}>, with zero mean and finite
variance, we let S, = Z?:l X;. It is well known (Kolmogorov’s inequality [1,

p. 116]) that for any A > 0,

1
P(max |5;| > ) < EEOSTLF)

1<j<n

We see that the inequality follows directly from the above corollary.

To conclude this section, we prove a deep theorem on the convergence of
the { X, },, which is also due to Doob. It involves an ingenious method in the

proof.

Theorem 1.4.11. If {(X,,F.)}%, is an L'-bounded submartingale, then

{X,}22, converges a.e. to a finite limit.

Proof. First we define, for any pair of rationals a, b, let

Ay = {w: liminf X, (w) < a < b < limsup X, (w)} (1.4.4)

n—oo n—oo

We show that A,y is a zero set for any a,b € Q. It follows that

{w: liminf X, (w) < limsup X, (w)} = U Apay
e n—o0 a,beQ, a<b

is a zero set. Note that liminf,, ., X,, is finite almost everywhere (by Fatou
lemma and the L'-boundedness assumption, E(liminf | X,,|) < liminf F(|X,]) <

00), hence the theorem follows.

It remains to prove (1.4.4). We first introduce some notations. Let {z1,- -+, x,}

be a numerical sequence, for a < b, let
a; =min{j: 1 <j<n, z; <a},

az =min{j: oy <j<n, z; > b}



1.4. MARTINGALES 39

Inductively we define
Qop—1 = min{j : ag—2 <j <n, x; <a},
agy =min{j: age1 < j <n, z; > b}

Let a; be the last one defined. We can think of connecting the consecutive x;
by line segments, Let v be the number of times the line segments comes from
< a to > b, i.e., the number of upcrossing through the interval [a, b], it is seen

that v = [I/2].

5
b i
S\
’ \\/ v
oo o >N
Figure 1.2:

Lemma 1.4.12. Let {(X}, F;)}}_, be a submartingale and assume that X; >

0. Let V[((;l))] be the r.v. of the number of upcrossing of [0,b] by the sample

sequence {X;(w): 1 <j <n}. Then

(n) E(X, — X1)
E(V[O7b}) < —
Proof. For convenience, we let ag =1 and a1 = o490 = -+ = a, = n. Then

we have a sequence of stopping times with
l=ay<ay<---<ayglaoa - <a,=n

We write

n—1

Xn - Xl = Xan - Xoco = Z(Xaj+1 - XOéj) = ( Z + Z )(XajJrl - Xo‘j)'

Jj=1 j odd j even



40 CHAPTER 1. BASIC PROBABILITY THEORY

It follows that

> (Ko @) = Xoy@)) 2 [Uw)/2]-0 = vgh(w)-b.

7 odd
On the other hand by Theorem 1.4.6, {X,, : 0 < j < n} is a submartingale,
so that for each 0 < 7 <n —1, E(X X,,;) > 0. Consequently

o1 T 3

E( Z (Xaj+1 - Xaj)) > 0.

Jj even

Therefore E(X, — X;) > FE (v(ni}) -b which yields the lemma. .

0

Now to complete the proof of (1.4.4), we consider the upcrossing on any
[a,b]. We replace the r.v. in the lemma by (X, — a)*. The sequence {(X,, —

a)*}, is still submartingale and by the lemma,

B(Xa—a)* — B(Xi— @) _ E(Xa") +1a
[a.b] = b—a - b—a

Let vjgp = lim l/[(:?)}. The L'-boundedness of {X,}, implies that E(v,4) <
n—oo ’
oo. Hence v,y is finite with probability 1. Note that

Ay = {w: liminf X, (w) < a < b < limsup X, (w)}

n—o0 n—oo

C {w: Vgylw) = oo},

hence Aj,y is a zero set and (1.4.4) follows. This completes the proof of the

theorem. O

Corollary 1.4.13. FEvery uniformly bounded s-martingale converges a.e. Also

every positive supermartingale and every negative submartingale converges a.e.
Proof. The first statement follows directly from Theorem 1.4.8 and that {X,,}
is a submartingale if and only {—X,} is a supermartingale.

For the second part we use Doob’s decomposition theorem (Theorem 1.4.3.

Let { X}, be a positive supermartingale, then X,, =Y, — Z,, where {Y,,} is a
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martingale and Z,, > 0, {Z,} . Since X,, > 0, it follows that 0 < Z,, <Y,,.

Let Zo = lim,,_,o, Z,. It is finite a.e. because

E(Zy) = lim E(Z,) < E(Y;) < .

n—oo

Also since {X,,}, is a supermartingale,
E(Y,) = FE(X,)+E(Z, < E(X))+ E(Z).

This implies {Y,},, is L'-uniformly bounded and {Y,,}, converges to a finite
limit a.e. (Theorem 1.4.8). The same holds for {X,, },. O

Recall that a sequence of r.v. {X,,}2°, is called uniformly integrable if

lim | X, |dP =0 uniformly on n .

It is clear that it implies that {X,,}°2, is L'- bounded. Also, if X,, = X a.e.,
then the uniformly boundedness implies that X,, — X in L' ([1, p.96-97]).

Corollary 1.4.14. If {(X,, F,)}>, is a submartingale and is uniformly in-

tegrable, then X = lim,,_,oo X,, a.e. and in L.

Remark. Theorem 1.4.11 and Corollary 1.4.14 are more or less that the con-
verse of Example 1. However for Example 2, the sum {S,}5°, of ii.d.r.v.
{X,}72, with zero mean forms a martingale, but does not converge; it is be-

cause the L'-bounded condition is not satisfies. In fact, we can show that

S 2
Jm ECR) =70

where o is the variance of X,,. For more detail, the reader can refer to |1,

Chapter 5, 6] for the law of large number and the central limit theorem for

{Sn}nzr-
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Exercises

1. Suppose {(Xék), Fu)}n, k=1,2 are two martingales, « is a finite stopping
time and Xél) = c(f). Define X, = Xﬁl)x{nga} + Xng)X{nga}. Show that
{(Xy, Fn)}n is a martingale.

2 If {(Xn, Fn) }n, {(Yn, Fu}n are martingales, then {(X,, + Y, F,)} is again a
martingale. However it may happen that {X,},, {Y.}. are martingales, but
{X,, + Y.}, is not a martingale. (Note the the o-field generated by X, + Y,

may not have the same o-field F,,.)

3 Prove that for any L'-bounded s-martingale {(X,,F,)},, and for any «
stopping time, then F(|X,]) < oco.

4. If X is an integrable r.v., then the collection of r.v., D(X|G) with G ranging

over all Borel subfields of F, is uniformly integrable.
5. Find an example of a positive martingale that is not uniformly integrable.

6. Find an example of a martingale { X, },, such that X,, — —oo. This implies
that in a fair game one player may lose an arbitrary large amount if he stays on
long enough. (Hint: Try sums of independent but not identically distributed

r.v. with mean 0.)

7. If {X,}, is a uniformly integrable submartingale, then for any stopping

time a, {Xoantn i again a uniformly integrable submartingale and

B(X1) < B(X) < sup B(X,,).

8 Prove that for any s-martingale, we have for each A > 0,

AP(sup | X, > A) < 3sup E(|Xa]) .
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For a martingale or a positive or nonnegative s-martingale the constant 3 may

be replaced by 1.

9. Let { X, }, be a positive supermartingale. Then for almost every w, X;(w) =

0 implies X, (w) =0 for all n > k.

10. Every L'-martingale is the difference of two positive L'-bounded martin-

gales. (Hint, take one of them to be limy_,o E(X,|F,)).

11. If { X, } is a martingale or positive submartingale such that sup,, F(X?2) <

oo, then {X,}, converges in L* as well as a.e.

12. Show that if {(X,, F,)}. is a submartingate, X,, > 0, then for p > 1,

p
| ll, < —El1Xall,

(Hint: Show that for Y > 0, E(Y?) =p [;° AW "'P(Y > A)d\.)
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Chapter 2

Brownian Motion

2.1 Continuous time stochastic processes

We call a family of random variables {X;}+>o on (Q, F, P) a continuous time
stochastic process. For each w € Q, X(-,w) = X(y(w) is called a sample path.
Usually we treat X (-,w) = w(t) (this can be justified).

There are two most important classes of continuous time stochastic pro-
cesses. The first one is the Poisson process {N:},., the number of arrivals

in time [0, ¢] according to an arrival rate A per unit time.

N
7 Q)]
1 —o0
> {
[
Figure 2.1:

45
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Recall that a Poisson random variable X with rate A has distribution

)\k

— — oA
P(X=k)=e L

k=0,1,2 ---
Hence N, has distribution

At)*
P(Nt:k):e“%, k=0,1,2--

A Poisson process is characterized by

2. Independent increment: for 0 < t; <ty < - - <t,,

Nt17 NtQ_Nt17 Nt3_Nt27 Ty Nt _Nt

n n—1
are independent.

3. Poisson increment: for ¢ > s, Ny — N, ~ N_,), i.e., it has a Poisson

distribution with rate A(t — s).

The next one is the Brownian motion {B;};>¢. It is also called a Wiener
process due to the pioneer work of Wiener in the 20’s. Recall that a one

dimension normal distribution N(u,o?) has density function

1 _(e-p)?
e 207 | reR

2mo

and N(0,1) is called the standard normal distribution. The Brownian motion

is defined by

2. Independent increment: for 0 < t; <ty < --- < t,,

Bt17 Btg_Btlv Btg_BtQJH' 7Bt _Bt

n n—1

are independent;
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Figure 2.2:

3. Normal increment: for t > s, B;— By, has normal distribution N (0,t—s).

We will see in the next section that almost all sample paths are continuous,
but not differentiable anywhere. We can also define in the same way the higher
dimensional Brownian motion, i.e., {Bt}tzo has range in R%; the corresponding
density function in (3) is

W2
w 67%, z € R%
The Brownian motion was first formulated by Einstein to study diffusion.
Heuristically we can realize it as the following: it is direct to check that

p(t,z) = (2mt) " 2e1oP/2t gatisfies

Op(t,z) 1
—— = —Ap(t
o~ o)
where A = Z?:l 83—;2 is the Laplacian. Hence it satisfies the heat equation
0 1
8_7; = §Au on R?.

If we are given an initial condition u(z,0) = f(x), it is known that the solution

is given by

u(w,t) = » fp(t,x —y)dy = (f *pe)(x) = E(f(By)).
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Equivalently, we can put it in terms of the Brownian motion u(x,t) = E(f(z—
By)). The study of heat equation can be put entirely into a probabilistic
setting.

In view of the two definitions above, there is another more general type
of stochastic processes called Lévy processes. They are {Xt}tzo defined by
replacing (3) with a stationary increment condition, i.e., for t > s, X; — X
has the same distribution as X_,. The reader can refer to [Ito, Stochastic

Process, Springer, 2004] for detail.

In the following we outline the theoretical existence of a probability space
(Q, F, P) for a stochastic process {X;}:>0, and the measurability problem
arised. The space and the o-field are constructed by the family of finite di-

mensional distributions as for the discrete time case { X, }22 ;.

Let T = [0, 00) and let RT denote all functions w: T — R. For ¢; < --- <
tn, the n-variate r.v. (X;,,---,X;,) induces a distribution py,..;, on R%. Let
F be the o-field generated by (Xy,,---, X4, ), i.e., by sets (cylinder sets) of the

form
Ey .y, ={w:w(t;) € E;} with E; Borel sets, 0<t;-- <t,.
If the family {1, .1, }t,<..<t, satisfies the consistency condition:

_ —1
Bty ooty atigr-tn = Htr.tn © P4

where ; : R"™ — R (2y...2,) — (T1...%i1,Tip1...Ty,) is the projec-
tion map ( ft¢,..¢;_1t,.1..t, is the marginal distribution of p, .,), then by the
Kolmogorov extension theorem, there exists a probability P on (€, F) and

{Xi},50 is the stochastic process with respect to (€2, F, P).

The probability space defined in this way is, however, still needed to be

refined. One of the problems we often encounter is the measurability of union
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of uncountably many sets with indices from 7" = [0,00). Another problem is
that the o-field F thus defined does not impose any condition on the continuity

of the sample paths on [0, 00) as is seen in the following example.

Example. Consider (€2, F, P) on which there is a continuous random variable
7 with values in [0,T") (i.e., P(1 =t) =0 for all t > 0). Define X;(w) = 0 for
all £ > 0, and

1 if 7(w)=t

0 if 7(w) #t

Yi(w) =

Then the only sample path of X (-,w) is 0, but each sample path of Y(-,w) has
a jump at 7(w) = t. On the other hand, it follows from the assumption on 7
that P(Y; = 1) = P(r = t) = 0 for each ¢, hence P(X; = Y;) = 1 for each t.
Therefore { Xi},50, {Yi},5, have the same finite dimensional distribution, they

equals the point mass with probability 1 at the path w = 0.
We will resolve the problem as follows:

Definition 2.1.1. Two stochastic processes {Xi},q, {Yi}5o on (€0, F, P) is
called a version of each other if P(X;=Y;) =1 forallt>0.

Note that if we let Ny = {X; # Y;}, they are zero set with respect to P.
We would like to have Utzo N; to be a zero set, however, it is not necessary
measurable from the construction of probability space. We will use the fol-
lowing theoretical device to overcome this dilemma. Let D be a countable
subset of T' = [0, 00), a function x : " — R is called separable if for any t € T
there exists a sequence {t,} C D, t, — t and x(t,) — z(t). For example
continuous functions or right continuous functions are separable with respect

to the rationals.

Definition 2.1.2. A stochastic process {X;}i>0 on (2, F, P) is separable with

respect to D if there exists an F-null set N such that X (-,w) is separable with
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respect to D for all w ¢ N.

The process {Y}}tzo in the Example is not separable. For if otherwise let
D be a countable set in the definition. For any ¢ ¢ D, let w be such that
7(w) = ¢, then Y (f,w) = 1 and Y (t,w) = 0 for all ¢ # #. Hence for {t,} C D
and t, —t, Y (t,,w) » Y(t,w).

The following is the main theorem

Theorem 2.1.3. . Let {X;},., be a process on (2, F, P), then there exists
on the same space a separable process {X,},., such that P(X; = X;) =1 for

every t > 0.

Sketch of proof ([2, p.555-559]). Note that for any fixed ¢ and for any countable
set D(C [0,T)), the set of w for which X (-,w) is separable with respect to D
at t can be written as

=~ 1

N U {w: 1X(s,0) = X(t,w)| < ~}

n=1 |s—¢|< L
seD

The main task is to construct D (independent of ¢) so the above set has
probability 1. To prove this, we take any interval I C T and J C R, and let

p(C) = P(("\(X, ¢ 7))

seC

for any countable set C' C I. Observe that as C increases, p(C) decreases. we
can choose C,, such that p(C,,) — infe p(C), and let Uy yy = U, Cn. Then
P{xieJin () (X.¢J) =0
s€Cr,g
(otherwise, we consider C; ;U{t} and obtain a contradiction). Let D = |J C(; 5
where (I, J) runs through all intervals / and J with rational end points. If we

let

N = ({Xt entn ) (X, ¢ J))

1,J s€Cr,g
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Then we have P(N(t)) = 0. It is direct to check that D has the property we

want. Now we define the separable version of {X;};>o as

X(t,w) if teD or teD&wé¢ N(t),
limsup,, . X(s,(t),w) if t¢ D and w € N(t)

X'(t,w) =

where s, (t) is a fixed sequence converges to t. It follows that for each ¢, and

for w & N(t), X'(-,w) is separable with respect to D at t. O

We introduce the following definitions on a probability space (€2, F, P):

— a family F = {F,; };>o of sub-o-fields in F is called a filtration if {F;} is an

increasing sequence of o—fields on ¢;
— a process {X;},5, is said to be adaptable to F if X; € F; for each t > 0;

— a filtration F is called right continuous if Fiy = F; (by definiton F;y =
ms>t fs)

For any filtration {F;}, let G, = Fiy, then G = {G; };>¢ is right continuous.
It is clear that if {X;},., is adaptable to I, then it is also adaptable to G. For
reasons that will be obvious later, we assume without loss of generality that F
is right continuous. It is also convenient to enlarge F; (hence all F;) to include

all subsets of the zero sets (completion by null sets).

With the filtration F, we can define the necessary terminologies as before:
— Markov property: P(X;s € E | Ft) = P(Xiys € E | X;) for t,s > 0;
— Martingale: X = E(X; | Fs) fort > s;

— Stopping time a : 2 — [0, 00) such that {r <t} € F,.
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Exercises

1. Let € : Q — [0,00) be a random variable which satisfies
P>t+s|&>s)  Vis>0

(lack of memory property). Show that this property is equivalent to £ being
an exponential distribution, i.e., P(§ > t) = e™*, ¢ > 0, the waiting time with

arrival rate \.

2. Let X(t) be a Poisson process, let S; = inf{t > 0: X(¢t) = n} and let
&n = Sy — Sp—1 be the waiting time of the interarrivals. Show that the {&,}5°,

are i.i.d. exponential random variables.

3. Conversely, let {£,}22, be ii.d. exponential random variables. Let 7, =

&1+ -+ &, and let
X(t) = max{n : 7, < t}, t>0.

Show that X(¢) is a Poisson process. (This is an alternative way to define a
Poisson process.) Use the picture of a sample path to realize 7,, and X (¢) are

“Inverse” of each other (like the inverse function).

4. Show that if X is measurable in the sub-o-field o{X; : t € T}, then X is

measurable in 0{X; : t € S} for some countable subset S C T.

5. Let {X;}>0 be a stochastic process on (2, F, P) and A € F. Show that
there is a countable set S C T such that P(A | X;,t € T) = P(A | X;,t € S).

6. Let K(s,t) be a real function over 7" x T'. Suppose that K is symmetric
and nonnegative definite on 7. Show that there is a process { X} }+>o for which
(X4, -+, X,) has the central (zero mean) normal distribution with covariance

cov(Xy, Xi,) = K(ti,t), i,j=1,---,k.
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2.2 Brownian motion and sample paths

For a normal r.v. X ~ N(0,0?), the symmetry implies E(X?1) = 0, and the

integration by parts yields
E(X*) =1-3-5---(2k—1)- 0. (2.2.1)
We also need the following elementary properties of the normal r.v.’s :

— Suppose X; ~ N(uy,01), Xy ~ N(us,03), and they are independent, then
X1+ Xo ~ N + p2, 0f + 03).

— Suppose X = (X, --,X,) is a n-variate normal r.v. with distribution
N(p,) where 3 is a symmetric, positive definite n x n-matrix. The density

function is given by

<27r)’5<21et S IR (- %(X — )2 (x— ) -

f(x) =

By a direct calculation, we have ¥ = [cov(X;, X;)] where cov(X;, X;) =
E((XG = pa) (X5 — 15))-

— Suppose X ~ N(u,). Let Y = AX + ¢ where A is non-singular, then
by a change of variable, Y has density g(y) = |det A|"'f(A~'y —¢). A direct
substitution yields Y ~ N(Ap + ¢, ¥') where ¥/ = AN A"

Let {B:}+>0 be the Brownian motion defined as in Section 2.1, then the
process is stationary in the sense that the distribution B; — By depends only

on the difference ¢ — s. Since B; has distribution N (0, ), it follows that
E(B;) =0, E(B?) =t.
Moreover, by using independence, we have

E(BsB;) = min(s, t) (2.2.2)
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This can be checked directly: assume s < ¢, then

E(BiB)) = E(By(B,+ (B, — B,)))
= E(Bg) + E((Bs(Bt - Bs))
= E(B) + E(B,)E(B; — B;) = s.

For 0 < t; < ty--- < t,, the joint distribution of (By,, By, — By, -+, By, —

n

By, _,) is given by

Jriet (X1, @) = H

where z = (21, ©o — 21, -+, T, — x,_1) and
t1 0 0
. 0 ta—1t 0
0 0 L]

On the other hand the distribution of the n—variate random vector (By,, By,, -+ By,)

is given by
1 1 tyv—1
Gty i (X) = VI (et 12 exp (— i(x ¥ x)) (2.2.3)
where
t1 t1 1 -0 1
t ty ty ooty
S = bty t3 - i3
t ty tz -t

This follows from the transformation of the above multivariate normal random



2.2. BROWNIAN MOTION AND SAMPLE PATHS 25

vector :
By, 1 0 0 0 By,
Btg 1 1 0 0 Btg Btl
By, 111 - 1 By, — B,

and notice that cov(By,, By,) = min{t;, ¢;}. By using this and the construction
of the probability space in the last section, we can conclude the existence of a

probability space for the Brownian motion.

One of the main properties of the Brownian motion is the continuity of the

sample paths.

Theorem 2.2.1. Let {B;}1>0 be a Brownian motion, then there is a version

such that with probability 1, the sample paths B(-,w) are continuous.

Proof. Let D denote the set of dyadic rationals in [0,00) and let I, =

[35, 551 be the dyadic intervals. Let

E,={w: max ( sup |[B(r,w)—B(—,w)|)>—

0<k<n2" “peqAD AL n

We divide the proof into three steps.
(i) We claim that Y >° | P(E,) < co. This will be proved in Lemma 2.2.5.

(ii) It follows from (i) and the Borel-Cantelli lemma that
E = lim B, lﬂl H E,
is a zero set. Observe that for any w ¢ E there exists ¢ such that for all
n>{ w¢ E, Itfollows that for any € > 0 and ¢ € [0,00), we can find
no > max{/,t} and 1/ny < €/3, such that for any n > ng, we have (by
w ¢ Ey),

k

’B(T’,O)) - B(z_n’

1 k
w<—, VreliNnD, 0§2—§n.
n n
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This implies that
/ / / 1
|B(r,w) — B(r',w)| <e, VY rr'el0,tjnD, [r—r< o

We conclude from this that if w ¢ F| then B(-,w) is uniformly continuous on
the dyadic rationals, and hence B(-,w) has a continuous extension B'(-,w) on
[07 oo)’

lim B(r,w) if w¢FE

B,(w) = B'(t,w) = r—t
0 it wel

where the r’s are the dyadic rationals decrease to t.

(iii) Next we observe that the joint distribution of (By,, - - - , By, ) is the limit
of the distributions of {B,,(n), "+ , Bry(n) }oz1, Where the r;(n)’s are rationals
and rj(n) \ t;. (check this by the density functions (2.2.3)). Also note that
(Bi,,- -+, Bi,) also has the same distribution (see the following Lemma 2.2.2).
Therefore {B;}; and {Bj}; have the same finite dimensional distributions in
the same probability space. In view of P(B; # B;) = P(E) = 0 for each t > 0,

we conclude that {B}}; is a continuous version of {B;};. O

The following simple lemma is needed in (iii).

Lemma 2.2.2. Let {X,}, and X be k-dimensional r.v. Suppose X,, — X in
probability, and F,(x) — F(x) for all x, then F is the distribution function of
X.

Proof. We only prove the 1-dimensional case for simplicity. Let Fx be the
distribution function of X. Since X,, — X in probability, for € > 0, there

exists n such that for k > n, P(|Xy — X| > ¢€) <e. Hence for k > n,

IN

P(Xy<z) < P(X<z+¢€)+P(X,—X|>¢)

< P(X<z+4e€) +e.
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It follows that lim,, F,,(z) < Fx(z). By considering P(X} > x + h), we can use
similar technique to show that for A > 0, Fx(z) < lim, F,,(z + h). Putting the

two inequalities together,
F(z) =1lim,F,(z) < Fx(r) <lim, F,(x + h) = F(x + h)

Therefore Fx(x) = F(x) follow by taking h — 0. O

Finally we prove Y >, P(B,) < oo in (i), which will complete the proof of

Theorem 2.2.1. We need a technical lemma.

Lemma 2.2.3. Suppose Xy,..., X, are independent r.v. and are symmetric

about 0. Let S, = X1+ ... + X,,. Then for a« >0 and e > 0,
(i) P(maxy<, Si > a) < 2P (S, > «);

(ii) P(maxy<, Sk > ) > 2P(S, > a+2e) — > P(X) > ¢).

Proof. Note that

P(rilgz(Skza) = P(Iilgfskza, Sp>a) + P(r]?Saz(Skza, Sp < @)

— P(SRZQ) + P(rilgz(SkZQ,Sn<oz).

(i) We need only show that the last term is < P(S, > «). Let Ay =

{makx S; < a < S} (K is the first time S; > «). Then
1<

k<n

n—1
P(maxSk >a, S, < a) = ZP(Ak N{S, < a})
k=1

n—1

> P(AN{S,— Sk < 0})

IN

n—1

= Y P(A4nN{S, - S, >0})

IN

nz_lp(Ak N {Sn > CY})

lg(Sn > a).

IN
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(Note that the key step is to switch “< 0” to “> 0" in the second equality,
because Ay, is independent of {S,, — Si} and that S,, — Sy is symmetric about
0.) This proves (i).

(ii) We make use of the following two trivial relations

(a) Spi<a, Xp<e, S,—S,<—¢ = S, <a,

(b) Spai<a, Xp<e, S, >a+2 = S, —Sp>e.

Following the same idea as in (i), we have

nz_:lp(Ak N {Sn < Oé})

n—1

Y P(An{Xp<e, So—Si<—c})  (by (a))
k=1

n—1

Z P(A,N{X, <e, S, — Sk >e}) (by indep. and symm.)
k=1

n—1

> P(An{Xp<e, S, >a+2})  (by (b))
k=1

n—1

> P(An{S, > a+2}) — P(X; > )

k=1

v

v

v

AV

> P(S,>a+2) — > P(Xp>e).

Combining with the previous part, we have (ii). O

It follows easily from the above that

Corollary 2.2.4. Under the above assumption

P(max |Sk| > a) <2P(| S, > a).

k<n
Proof. We make use of the symmetry:
P(I£12§|Sk| > a) = P(Iilg&r}L(Sk > a) + P(rlglgar)f(—sk) > a)

< 2(P(S, >a) + P(=S,>a)) = 2P(|S,|>a) 0.
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Finally we prove the main lemma for Theorem 2.2.1.

Lemma 2.2.5. With the notations in Theorem 2.2.1, we have ), P(B,) < co.

Proof. We fix ¢ and ¢, then by Lemma 2.2.3

P(max}B<t+2im5>—B(t>\ >a) < 2P(|B(t+6) - B(t)| > a)

i<am
2
< 2B(B(+0)- B
662
at
(We have made use of P(|X| > «a) < a™*E(|X]?), and for X normal r.v.,

E(X*) =30") Let m — oo, we have

P( sup [B(t+7d)— B(t)| > a) < g

0<r<1,r€D at
1
Therefore for E£,, = {w : maxg<i<pon (suprelnkm) |B(r,w)—B(k2™™,w)| > =)},
== n
1
P(E,) <n2"(6-272")/(=)" = 6n27" .
n

Hence Y P(B,) < oc. O

Remark 1. By Theorem 2.2.1, we can assume, in addition to (i)-(iii) in the

Brownian motion,

(iv) For each w, B(-,w) is continuous.

Remark 2. In view of the estimation in Lemma 2.2.5 and the existence of a
separable version for any given stochastic process (Theorem 2.1.3), Theorem

2.2.1 can be extended to the more general case:

Theorem 2.2.6. (Kolomogorov’s continuity theorem) Let {X,} be a stochas-

tic processes. Assume that there exists a,, 5 > 0 such that

E(IX(t)— X(s)|*) < K|t—s|""" ¥V t,s>0.

Then X (t) has a continuous version.
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The reader can refer to [3, p.31] for the detail.

Definition 2.2.7. A stochastic process {Xi}i>o is called a measurable process

on (QF,P)if X: TxQ — RisBxF measurable.

Proposition 2.2.8. The Brownian motion {B;}i>o is a measurable process.

Proof. Let

1
K by ktt k=012,

B™(t,w) = B(— —
(tw)=B(5w), 5 < TR

Then the map B™(-,-) is B x F measurable, as
{(tw): BOtw) 2a} = (2 (k+1277) x {B). () > a})
By the continuity of the sample path, B™(t,w) — B(t,w), hence B(-,-) is

B x F measurable. O

As a corollary of the estimation in Lemma 2.2.3, we have

Theorem 2.2.9. For the Brownian motion {B;}i>o, we have

P(supBSZQ) = 2P(Bt2a), VvV a>0.

s<t

Proof. From Lemma 2.2.3(i), we have

P( max Bpo-m; > a) < 2P(Bt > a).

k<am

Hence as m — oo, the continuity of B(.y(w) implies that

P(sup Bs > o) < 2P(B; > «)

s<t
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On the other hand, Lemma 2.2.3(ii) implies
P(supB; > a) > P(max By-m; > )

s<t o k<a2m

> 9P(B,zat ) — 2P(Bami > ).
m m

By the Chebychev inequality (P(|X| > €)) < e *E(|X|*), using k = 4), we
conclude that the last term < 2™(3(t27™)%)/m~* = 3m*?2~™. This implies
that

P(susz > a) > 2P(Bt > a)

s<t

and the theorem follows. [l

We will give a simple proof this theorem again in Section 4 using the strong
Markov property and the continuity of the sample paths. In the following we
show that the almost all the sample paths are non-differentiable everywhere.

First we observe a simple invariant property of the Brownian motion.

Proposition 2.2.10. (Scaling property) For ¢ > 0, let
Bj(w) = ¢ ' Bay(w) .
Then {B;}i>0 is again a Brownian motion.
Proof. It is clear that {B;};>¢ has independent increment, we only need to

see the increment has a normal distribution with the correct variance. Recall

that if X ~ N(0,0?), then cX ~ N(0,c*c?). Hence
Bi(w) = By(w) = ¢ (Bey(w) — Bey(w)).

It is a normal r.v. with variance ¢ 2(c*t — ¢®*s) = t — s. This implies that

{B;}}+>0 is a Brownian motion. O
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Theorem 2.2.11. Except for a set of zero probability, B(-,w) is nowhere dif-

ferentiate.

Proof. Let

k—+ (i k+1
Xow = s {180 - ()

be the maximum oscillation of B; on three consecutive segments. Then by
Proposition 2.2.10,

k+(i+1)

B

) ~ Byw ~ 273By.

Hence for any n, k and € > 0, by independence, we have

P(X,, <e€)=P(|B] < 2”/2 / d < (2- o/ 2¢ )
( ) = P( (7= € X
Define
Y, = min X,
k<2n

as the smallest oscillation of the {X,, 4 }1, then P(Y, <€) < n2"(2-2"2¢)3. In
particular,

P(Y, < n27") <n2"(2-2%%.027")° > 0. (2.2.4)
Now consider the upper and lower derivative of B(-,w) from the right ,

D*B(t,w) = limsup (B(t + h,w) — B(t,w))/h

h—0t+

D, B(t,w) = liminf (B(t + h,w) — B(t,w))/h

h—0+
Let E={w: 3t>0> —o0 < D;B(t,w) < D"B(t,w) < oo}, we claim
that P(F) = 0. Hence for w ¢ F,, DTB(t,w) = oo or Dy B(t,w) = —c0 , and

the theorem follows.

To prove the claim, let w € E, then there exists K > 0,

—K < D,B(t,w) < D'B(t,w) < K .
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This implies that there exists § > 0 such that for ¢t < s <t + 9,
|B(s,w) — B(t,w)| < K|s—t|.

Let ng be such that ny > max{4K,t} and 4/2" < ¢; for n > ny, let k be such
that
k
5= —tl<d  k=0123

then
Xpp(w) < 4K2™" < n27".

It follows that Y, (w) < n27". Let A, = {Y, < n2™"}. Note that w € E
A,,). Therefore

——=n—00

implies w € A, for n > ny, i.e., w € Upe, o) An (= lim
by (2.2.4),

P(E) < P(lim,A,) = lim P( kﬂAk < lim P(A,) =0

This proves the claim and the theorem follows.

Remark. It is well-known that the the regularity of the sample path can be

made precise.

Theorem (Law of iterated logarithm). Let {B;};>0 be a Brownian motion.

Then

B 5— s B s S
(hm s s —1, lim, g—————— s >

@/2tloglog : \/2tloglog L .

The proof can be found in standard probability books (e.g., Breiman, Prob-
ability). There is a nice proof in “Diffusion Processes and Stochastic Calculus,
Baudoin, 2014” using Doob’s maximal inequality on the exponential martin-
gale {eo‘Bt_aTQt}tZO, and the Borel-Cantelli lemma. The theorem implies that
the sample paths are Holder continuous for order % — ¢ for any € > 0. The

reader can refer to Falconer, Fractal Geometry for a direct proof, also for the

Hausdorftf dimension of the paths.
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Exercies
1. Show that the Poisson Process is a measurable process.

2. Let {B;}:>0 be Brownian motion. For fixed ¢ and s, find the distribution of
B + B;.

3. Show that lim,,otB(1/t) = 0 almost surely. Define B; = ¢, for t > 0.

Prove that {B}}; is again a Brownian motion.

4. Show that (,.,0{Bs: s >t} is a sub-o-field contains only sets of prob-
ability 0 and 1. Do the same for () .,0{B; : 0 <t < €}; give non-trivial

examples in the o-field.

5. Let {W,}1>0 be a stochastic process having independent, stationary incre-
ments and satisfies F(W;) = 0, E(W}?) = t. Show that if the finite-dimensional
distributions are preserved by the scaling transformation W (t) ~ ¢ W, ¢ >
0, then {W;};>¢ is a Brownian motion (Hint: use the Lindeberg theorem [2, p.

368]).

6. (Fourier expansion of Brownian motion)

(a) Show that for s,t € [—m, 7],

. ts 2 sinnt sinns
mll’l(S,t):;—i—;Z T
n>1

(b) Let {Xo}5°, be i.i.d standard normal random variables, then

t 2 sinnt
W, = — X, — —X,
N~ 0+\/;Z n

n>1

is a Brownian motion on [0, 7] (see Breiman, Probability, 1968, P. 259-261).
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2.3 Some basic properties

Let f : [0,t] = R be a real-valued function, we say that f is of bounded

variation if

V(f) = SI;PZ |f(t:) = f(tima)| < oo

where the supremum is taken over all partition P ={0 =1t <ty < ... <t, =
t} of [0, t]. It is known that if f is of bounded variation, then f is differentiable

a.e. A function f is said to have quadratic variation if the limit

lim Z |f(t:) — f(ti1)]? exists |

P[0

where ||P|| = max;{|t; — t;_1|}. The following shows that bounded variation

and bounded quadratic variation are two non-compatible conditions.

Proposition 2.3.1. If f : [0,t] — R is continuous and is of bounded variation,

then f has zero quadratic variation.

Proof. Observe that for any P ={0 =1t < ... <t, =t},
D If ) = Ftn)l* < max | f (k) = f(ta)] - V()

By the uniform continuity of f, the above expression tends to 0 as ||P|| tends

to 0. O

Theorem 2.3.2. Let [B](t) denote the quadratic variation of By, then [B](t) =

t a.e.

Proof Let ¢, = ||P,|| and satisfies >~ 0, < co. For a partition P, with
| Prl] < 0p, let

T, = Z |B(t;) — B(ti1)|*.
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Then the expectation

= E(Z\B(m ~ B(ti-)]?) = Z(ti —ti) = t. (2.3.1)

We claim that

ZET — E(T, ZVar ) < oo a.e.

It follows that E( Yo" (T, — E(T;,))?) < oo. Hence > o2 (T, — E(T,))? < 0o
a.e., and

lim (T, — E(T)) = 0.

This together with (2.3.1) implies that [B](¢) = lim, o F(T},) =t a.e.

The claim follows from
g
Var(T,,) = Var(d _|B(t:;) = B(ti-1)|?)
=1

_ va«(w(ti) — B(ti-1)]?)

< ZE B(t;1))")
= ZB-(ti—t,-,l)z
=1
nk
< B|[Pull - D (i — ti1) < 3t5,
=1

and Y >° Var(T,,) <3t> " 0, <oo .

Recall that {X;};>0 is a martingale if F(]X;|) < oo and for any s > 0
E(Xt+s ’ ft> = X(t) a.e.

Here {F;}; is filtration (right continuous sub-o-field) generated by {X, : 0 <
r <t}
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Theorem 2.3.3. The following processes are martingales:

(i) {Bi}iso ; (i) {B? — thso ; (i) {55} s .

Proof. The proof depends on the independence of By, ;—B;and B,, 0 <r <,
and also

E(g(Biys — By) | Ft) = E(9(Biys — By))
where ¢ is a Borel measurable function.
(i) Since B, ~ N(0,t), E(|B;|) < co. By independence,
E(Bis|Ft) = E(Bi+ (Bis — B)|F)
= E(Bi|F) + E(Bs— B | F)
- Bt + B(Bt+s - Bt) == Bt .
(ii) Note that E(B2) =t < co and

E<Bt2+s) = (Bi+ (Biys — B))?

— Bt2 + 2Bt(Bt+5 — Bt> -+ (Bt+s — Bt)2.
Hence E(Bf, | Fi) = Bf + 0+ s. It follows that

E((B}.,— (t+s)) | F) = B! —t.

(iii) It is easy to show by using completing square that

1 2 2
E(efBr) = / et . e gy = /2
( ) R \ 27t
We then apply the same proof as in (ii). O

A process {X;}+>0 is a Markov process if for any s,t > 0,
P(Xt_t,_sGE’ft) - P(Xt+5€E|Xt)

where F; generated by X, 0 <r <t.
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Theorem 2.3.4. {B;}>¢ is a Markov process.

Proof. Since F; is generated by By, By,, ..., By, forany 0 < t; < ... <t, =1,

to suffices to show that
P(Bt+5 6 E | Btm"'?Btn) = P(Bt+s e E | Btn) (232)

Let Xy =By, Xi=DB;, — B, ,,t=1, ---, n and X, 41 = Byys— By,. Also
let S; = X1+ ...+ X;, the sum of independent random variables. We have
proved in Theorem 1.3.3 that

P(Sn-i-l € E | Sl,---,Sn) = P(Sn-H € E | Sn) = ﬂn-l—l(E_ Sn)

This verifies (2.3.2) with S; = By, and p,,41 the density function of By . O

With the {B:}+>0 as a Markov process, it has a transition probability
P(y,t;xz,s) = P(B; <y | By, = s). It follows that the density function
is

1 2
9 t7 x,s) = —ef(y*x) /2(1575).
Iy ) e

The transition probability satisfies the stationary property P(y,t;x,s) = P(y,t—
s;x,0).

Analogous to the discrete case, a random variable 7 :  — [0, 00) is called
a stopping time if

{r<t}er Vt>0 (2.3.3)

where {F; }i>0 is a filtration (see Section 2.1). It follows that if 7 is a stopping

time, then {7 < t} € F;; this follows from
) 1
{r<t}= Un:l{T <t-— E} € Fi_iym C Fi.

Also by the right continuity of {F;}i>0, it is easy to show that “ {7 < t} € F;
for all £ > 0”7 actually equivalent to (2.3.3).
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The pre-7-field F; is defined as the family M & F such that
Mn{r<tieF, t>0. (2.3.4)

The post-7 field F! is defined as the sub-o-field generated by the process F, ;.

T

Example. Let F; = o{Bs: s <t}, then 7 = inf{t: B, = 1} is a stopping

time. Indeed let r denote a rational, then

{r<ty=U_N iB-21-1/m} € 7

The event M = {inf,., B; > —1} is the set of paths that hit 1 before hit —1.

It is in F, because (r, s are rationals)

Men{r<t}= Us<r<tﬂmn>o{ B, <—(1-1/n), B;>1-1/m} € F.

Theorem 2.3.5. Let 7 be a stopping time finite a.e., then
B = By — B-
is a Brownian motion. Moreover for M € F,, and for E any Borel set in R¥,

P(((B;,---B;)e EynM) = P((B;

t17.

-+ ,B; )€ E)P(M)
= P((By---By,) € E)YP(M) .

Proof. We will prove the identities, then by taking M = Q, (B}, -+, B} ) has

the same distribution as (By, --- By, ). Hence { B} }+>¢ is a Brownian motion.

We first prove the case 7 has a countable range D. Note that B; is in the

post-7 field F., and for any Borel set £ in R

(B eE}=|J{Bet—B. € E 7=5}.

seD
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Let M € F, and E C RF, then by the independence,

P(((B}, -+ ,B;) € E)yn M)
= Y P((B,. . B,) € E)NMN {7 =s}) (2.3.5)
— S P((B;,---B) € EYP(MN {7 = s})
= P((Bf,-.B;) € E)P(M).

For the second identity, we take M = €2, then we can replace the (B;:

t19

-, B})
in (2.3.4) by (By,, -+, By,) and follow by the same argument.

For the general 7, we let

k k=1 k
— if <
7, =4 2" 2" 2"

0, T = 00.

It is clear that 7, \ 7. For k27" <71 < (k+1)27",
{mn <t} ={7 <k27"} € Fjp-n C F,.

This implies 7, is a stopping time. Let Bg”) = Byy,,—B,, and M € F. (C F,)).

Then for H a closed rectangle in R¥, by the above , we have
P((B,-- By € H)N M) = P((By.---.B,,) € H)P(M),

Since {7,(w)} converges to 7(w) and the sample paths are continuous, we can

take limit so that
P(((B;l, -, B ) e H)N M) = P((By, - ,B,) € H)P(M).
The rest of the theorem follows readily. O
Theorem 2.3.6. (The strong Markov property) Let 7 be a stopping time
finite a.e., then for any Borel set E C R,

P(Byr€E|F,) = P(Byur€E|B;) .
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Proof. We write Byy, = (Byyr — B:) + B, = B} + B;. It follows from
Theorem 2.3.5 that B, € F, and B} € F., and they are independent. We can
use Theorem 1.3.3 : Let XY be independent and Y € F, then P(X +Y €
E|F) = P(X+Y €eFE|Y), toconclude the theorem. O
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Exercises

1. Consider a process with three states {a,b,c}, and follows the rule that a

goes to b, b goes to c and ¢ goes to a. This is a Markov chain. Show that
P(Xg=c|Xs=aorb, Xi=c¢) # P(Xs=c| Xo=aorb).

Explain this situation in regard to the independence of the future and the past

subject to the present.

2. Show that a process { X (t)};+>o with stationary and independent increment

and right continuous sample paths has the strong Markov property.

3. Let {N(t)}+ be a Poisson process with rate A\. Prove the following are
martingales: a. N(t)—At; b. (N(t)=Mt)2=\t; c. eosU—ONO+EXN <« ¢ < 1,

4. For T < o0, is X(t) = B(T —t) — B(T') a Brownian motion on [0,7]?
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2.4 The exit time and hitting time

We use P, () to denote the probability of the Brownian motion starting at .
For a € R, let
T,=inf{t >0: B(t) =a}

be the first time of the Brownian motion hitting a. Then T} is a stopping time.

We first give two propositions to describe the exit and hitting probability.

Proposition 2.4.1. Let a < x < b and 7 = min{T,, T, } be the exit time, then

P,(1 < 00) =1 and the waiting time for exit is E,(T) < oo.

Proof. Note that
{r>1} = {B(r) € (a,b) VO<r<1} C {B(1) € (a,b)}.

Then

1

ez

b
maxX.c(qp) P (B(1) € (a,b)) < maxze(a’b)( / e—(z—y)2/2dy) — 0 < 1.

It follows that

Px(7'>n)
= P(r>n—-1and B(r) € (a,b)Vn—1<r<n)

= P(r>n—-1)P(B(r)+Bn-1)€(a,b)VO<r<1|{r>n-1}),

where B'(r) = B(r + (n — 1)) — B(n — 1). The last part can be estimated as

follows:

IN

P.(B'(1)+ B(n—1) € (a,b) | {r >n—1})
— P.(B(1)+ B(n—1) € (a,b) | {Bn_s € (a,b)})

— (BlBar e @) [ PB4y € (0.b)dunly) <6
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where p, is the distribution of B, _; starts at x. Hence
P (r>n) < P(r>n-1)0 < --- < 0"

This implies that P,(7 = 00) = 0, i.e., P,(7 < o0) = 1. For the second part,
we make use of E(X) <> /P(X > n) for X > 0:

E(r) < 2«9" < 00 . O
n=1
Proposition 2.4.2. For any a,b € R, P,(P, < o0) =1.

Remark. It follow that P,(7T, < co) = 1 at any a, and the path will return to
a again and again. This property is called the recurrent property. We will see
in Proposition 2.4.4 that, unlike Proposition 2.4.1, the waiting time for return

Is 00 .
Proof. We show that Py(7) < oo) = 1. The other cases are similar. Observe
that for any a # b, the symmetry implies Pyip)/2(Ta < Tp) = % Hence

1 1
PO(T—1<T1):§7 P(Tos<Th) ==, P—3(T—7<T1)=§7

N | —

By the continuity of the paths, to reach —(2" — 1), they must pass though
—-1,-3,---. Let A, = {T,(zn,l) < Tl}, by the strong Markov property,
Py(An) = Py(Ty < TPy (T-5 <Ty) - Pogon_1)(T-@n_1) < T1).
It implies that Py(A,) = 27", so that Py((),—; A,) = 0. This yields
1= PRy AL) =Tim Py(Ty < T ) = Po(Ty < 0)

and the proposition follows. O

Let M(t) = maxo<s<; B(s). It is clear that

(M(t) > a} = {T, < t}. (2.4.1)
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Theorem 2.4.3. Fora € R, P(M(t) > a) =2P(B(t) > a).

Remark. We have proved this in Theorem 2.2.9. Here we give a simple proof

by the hitting time, using the paths are continuous.

Proof. Note that {B(t) > a} = {T, <t,B(t) — B(T,) > 0}, and {T, < t} €
Fr,, which is independent of {B(t) — B(1,) > 0} € F7,. Hence

P{{B(t) 2 a}) = P(T.<t, B(t)—-B(T.)=0)
(

= P(T, <t)P(B(t) — B(T,) > 0)

= P(I.<t)P(B*(t—T,) >0)

= P(T,<t)- % (by symmetry)
_ %P(M(t) >q). O

As an application of Theorem 2.4.3, we have

Proposition 2.4.4. The r.v. T, : (2, F, P) — [0,00) has density
fr, = ﬂt*/%—'“‘?/%, t>0, (2.4.2)
C N2

and E(T,) = cc.

Proof. Let a > 0, we have by Theorem 2.4.2,
P(T,<t) = P(M(t)>a) = 2P(B(t) > a)
= 2/00 e’yz/%dy = \/E/OO e du.
a 2 /'t

The density function follows from taking derivative of the above. Since the

density of T, is ~ t=3/2 it is clear that F(T,) = co. O
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Corollary 2.4.5. For any 0 < a < b, T, — T, is independent of B(t), t <T,;

the distribution function of T, — T, is

Frio(t) = S e bme

Vor

Proof. From Theorem 2.3.5, B*(t) = B(t+1,)— B(1,) is a Brownian motion,

and is independent of B(s), s < T,. Hence the same is for
T,—T, = inf{t >0: B*(t) =b—a},

and the density is given by Proposition 2.4.4. 0

We use the reflection property of the Brownian motion in Theorem 2.4.3.

In the following, we formulate it into a theorem.

Theorem 2.4.6. (Reflection principle) Let T be a stopping time. Define
B(t), if t<T

2B(t) — B(t), if t>T

Then B, is also a Brownian motion.

Remark. Note that for ¢ > 7, B,(w) = —(Bi(w) — B;(w)) 4+ B-(w) is the

reflection along a = B, (w).
Proof. Let
C[0,00) = {f continuous on [0,00), f(0) =0}

be equipped with the o-field generated by the cylinder sets. (It contains all
the continuous sample paths of the Brownian motion.) Define a map & :
[0,00) x C[0,00) x C[0,00) — C[0,00) by

f(), fo<t<T,

(T, f,9) =
f@t)+g(t—1T), ift>1.
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It is clear that ® is measurable.

Note that Bia,, it is F-measurable. Let B = By, — B;, s > 0. Then
both B! and —B} are Brownian motions with the same distribution, and are
independent of F,.. Hence (7, Binr, B¥) and (7, Biar, —BZ) have the same
distribution (as r.v. on [0, 00) x C[0,00) x C[0,00)). It follows that

®(7, Biyar, Bfy) and  ®(7, Boar, —B())
have the same distribution. Note that the first one is just B; and the second

one is B(t). We conclude that B(t) is also a Brownian motion. O

As a corollary we have

Corollary 2.4.7. The joint distribution of (B(t), M(t)) has density

2 2y—x _ (5, 2

y>0, x.

Proof. Let y > 0, z, and let B(t) be the reflection of B(t) at T,. Then

P(B(t) <z, M(t) 2y) = P(B(t) <z, T, <1)
= P(B (t) -z, T, <t)
= P(B(t) > 2~ z)
— 1 —u2/2td

\/27T 2y—zx

The density function is obtained by taking partial derivatives on x and y .

O

In the rest of the section, we consider the zeros of B(t).

Lemma 2.4.8. Let Z;, = {B(s) =0 for some s € (0,t)}. Then for a # 0,

t
P.(Z) = —‘C;LT w320 2ugy |
V 0
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Proof. Assume a > 0. Then

P.(Z;) = P(ming<s<(B(s)+a) <0)

IN

—CL)

(
= P(ming<s<B($)
= P(M(t) 2 a) (by symmetry)
(

T.< 1)

= u’S/Ze’“Q/zudu (by Proposition 2.4.4).

V21 Jo

Proposition 2.4.9. The probability that {B(t)}; has at least one zero in time

.2 r
(r,s) is —arccos 4/ —.
T s

Proof. Let A, ; = {B(t) =0 for some t € (r,s)}, and let
h(z) = P(Ars | B =) = Pu(A,4).

Hence by the above lemma,

Pt = [ (@)=

— .= / —3/2622/2udu>6—m2/2rdx
wr

—_

e /2rd

Corollary 2.4.10. For 0 < r < s, the probability that no zero in (r,s) is
2

—arcsin\/z

T s

Proof. It follows from the above and

2 T 2 . T
1 — —arccosy/— = —arcsing/— O
T s T s
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To conclude, we prove a special property of the zero sets of the sample

paths.

Lemma 2.4.11. P((yc,<; B(t) <0) = P((Nyc<y B(t) >0) = 0.

Proof. We make use of Theorem 2.4.3 :

P( () B(t)<0) = P(maxoq<iB(t) <0)

= 1- P(maxogtng(t) > O)

= 1-2P(B(1) > 0)

* 1 2
= 1=2 e 2dr = 0. O
/0 \ 2T

Lemma 2.4.12. Let Z,(w) = {t: B(t,w) =0, 0 <t < 1}, then for almost

all w, Z(w) has 0 as a limit point.

Proof. From Lemma 2.4.11, we see that
P(B(t) crosses 0 for some 0 <t < 1) =1.
By the scaling property (Proposition 2.2.10), we conclude that
P(B(t) crosses 0 for some 0 < ¢ <7) = 1.
In particular, we take r, ~\, 0. Then

P( ﬂ {B(t) crosses 0 for some 0 < ¢ < rn}) = 1.
n=1

This implies the lemma. U

Theorem 2.4.13. For almost all w, Z,(w) is a perfect set (hence uncountable)

and has Lebesgue measure zero .
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Proof. We use |Z] to denote the Lebesgue measure of Zy, it is a r.v. and
1
B2 = B[ vwo-o @)

1
= /EX{B(t) 0y) dt
0

:/P ) dt = 0.
0

—_

Hence | Z,| = 0 P-a.e.

Next we note that B(-,w) is continuous, hence Z;(w) is closed. We need

to show that it has no isolated point, and it is a perfect set.

To this end for any rational r € (0, 1), let 7, be the least ¢ > r such that

B(t) = 0, then 7, is a stopping time. Let
A, ={w: 7.(w) is the limit point of Z;(w)}.

Then by the strong Markov property and Lemma 2.4.12, we have P(A,) = 1.
It follows that P((), A;) = 1 (where the intersection is taken over all rationals
> 0. Now for any w € (), A, and for s € Z;(w), s > 0, if s is a left limit
point of Z;(w), then it is not an isolated point. If s is not a left limit point of
Zy(w), then s = 7,(w) for some rational r < s. This implies that s is the right
limit point of Z;(w) (by the strong Markov property, and use the lemma). In
either case, s is not an isolated point. Hence Z;(w) has no isolated point and

the proof of theorem is complete.
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Exercises
1 Show that M (t) = supy_,{B(s)}, |B(t)| and M(t) — B(t) have the same
distribution.
2. For a,b > 0, let 7 = min{7",,T,} be the first that the Brownian motion
hits a or b. What is P(B(7) = —a) and P(B(t) = b)?

What are the hitting probabilities if we change a and b to two slant barriers

—a+rt and b+ rt for some r > 0.

3. Suppose Xi,---, X, are independent and each has density function

ha(t) = —= t3/2e~/2 1 ()

V2r

(the density function for the first time the B.M. hits a). Show that

(a) (X;+---+X,)/n? also has the same distribution. Contrast this with

the law of large numbers.

(b) P((maxy<, Xi)/n? < x) = e V) for z > 0.

4. (a) Show that the probability of the last zero preceding time 1 is distribution
over (0,1) with density 7 !(¢(1 —t))~'/2,

(b) Similarly calculate the distribution of the position of the first zero

following time 1.

(c) Calculate the joint distribution of the two zeros in (a) and (b).
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Chapter 3

Stochastic Integration and Ito

Calculus

3.1 Wiener integral

The most basic integration theory is based on the Riemann integral of a real-
valued function on an interval [0,7]. It is easy to extend the integrand to
be a vector-valued or a Banach space-valued function. The Riemann Stielt-
jes integral is an extension such that the integrator is a function of bounded
variation. The Lebesgue integral is to allow the integrator to be a measure
on a more general measure space. In this section, we will consider the Wiener
integral fOT f(t)dB(t), where f(t) is a real-valued function, integrating over

the Brownian motion.

Suppose f is a real-valued step function on [0,7], f(t) = ¢ t; <t <
tivi, 1=0,1,--- ,n—1. We write AB; = B(t;+1) — B(t;), and define

n

I(f):/o f(t)dB(t):iciABi. (3.1.1)

83
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Example 3.1.1. Let f(t) be a step function on [0, 3] that takes values —1, 1,2
on the intervals [0, 1), [1,2) and [2, 3] respectively. Then

10 = [ o)
= (C)(BO)— BO) +1-(B@) - B() +2-(BE) - B)
B+ (B - BO) +2- (BG) - B()
~ N(0,1) + N(0,1) + N(0,4)  (independent sum)

= N(0,6).

Lemma 3.1.1. Let f be a step function on [0,T]. Then I(f) € L*(Q), it is a

normal r.v. with mean 0 and variance

o = B(I(f)) = / o

Proof. Recall that if X;,---, X, are independent and X; ~ N(u;,0?), then

a Xy + -+ Xn ~ N(aypy + - + appn, @30y + -+ aso2).

It follows that I(f) is a normal r.v. with mean 0. For the variance, we have

E(I(f)?) = E(ZcichBiABj) :ZC?E((ABO2)
= ch(ti—i-l_ti) = /0 | f(t) |* dt . 0

i

Lemma 3.1.2. Suppose f € L*[0,T], then there exists a sequence of step
function {f,} converges to f a.e., and {I(f,)}:2, is a Cauchy sequence in

L2(5).

Proof. The first statement is well known. The second statement follows from

E((I(f) — I(f) / Falt) = fu(®Pdt . O
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Definition 3.1.3. For f € L*|0,T], we define I(f) = lim, o [(f,) where
{fn} is as in Lemma 3.1.2, and call I(f) the Wiener integral of f.

Clearly I(f) € L*(Q) by the completeness of L*(2) and the definition is
independent of the choice of the subsequence {f,}.

Proposition 3.1.4. For f € L*[0,T], I(f) € L*(Q) is a normal r.v. with

mean 0 and variance o® = || f||* = fOT |f(t)]2dt .

Proof. We need to use the fact that if X,, ~ N(uy,,0,) and if g = lim,, o i,
o = lim, ;o 0,, then X,, — X in probability (or in L*(2)) implies X ~
N(u,0) (see Lemma 2.2.2). O

Corollary 3.1.5. If f,g € L2[0,T), then E(I(f)I(g)) = [ f(t)g(t) dt.

Proof. This follows from

B +10r) = [1rval = [z [ o [1gp

and also

B +10)?) = E(IP +20(7)1(5) + 1)
= [ i 2Bu / . O

Next we want to consider the relationship of ( fo t)dB(t))(w) and
fo t)dB(t,w). Note the B(t w) has unbounded variation (but has finite
quadratlc variation) fo t)dB(t,w) is not defined as a Riemann Stieltjes
integral literally. On the other hand, we can redefine the integral as follows:
For [a,b] C [0,T]

ws) [ a0 = [ 50509

b

a

- / Bt w)df (1)

provided the last term is defined.
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Proposition 3.1.6. Let [ be continuous and of bounded variation on [0,T],

then for any [a,b] C [0,T],
b b
df@wmwwmeJ@wmm.

Proof. For any partition P, = {tp < --- < t,} of [a,b], we consider the step

function

—_

n—

fn(t) = f(ti)X[tHl,ti)(t) :

%

Il
=)

Note that the continuity of f implies f, — f in L?[a,b] as ||P,|| — 0. Hence

n—1

/ FOdB#) = Jim S F(t)AB i 13(9).

Prl||—0
[1Pnll—0 <=

By passing to subsequence and using the same notation for convenience, we

have
b
(/a f)dB())(w) = WHOZf HAB;(w) a.e.

On the other hand, for almost all w,

Gﬁ/ﬂWMW>=ﬂM%wLW$%ZBmw - flti1)
= P Z f{t)ABiw)

(The first limit exists as f is of bounded variation; the second equality follows

from the Abel transform of series.) This yields the proposition. 0

Example 3.1.2. [ B(t)dt ~ N(0,1/3).

By regarding B(-) € C([0,1], L*(£2)), we have by the definition of Reimann
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integral, (fol B(t) dt)(w) = fol B(t,w) dt for almost all w, and

/OIB(t,w)dt - [tB(t,w)]; ~ (RS) /OltdB(t,w)
— B(lw) — (RS)/OltdB(t,w)
- @9 | (- 1) dB(t.w)
. /0 (1= 1) dB(#)(w) (by Proposition 3.1.6)
Since [ (1 — t)dB(t) ~ N(0,02) with 0® = [;(1 — t)2dt = 1/3 (Proposition

3.1.4), we have [ B(t)dt ~ N(0,1/3).

Theorem 3.1.7. Let f € L*[0,00), then

Y (1) = / f(5)dB(s)

is a Gaussian process with mean 0 and covariance cov(Y (t),Y (t + s)) =

[5 1 f () 2du for all s,t > 0.
Moreover {Y (t) }i>0 is a martingale with respect to Fy = o{B(s) : s < t}.

(Recall that Gaussian process means the joint distribution at ¢y, -, ¢ is a mul-

tivariate normal r.v. which is determined by the mean and the covariance.)

Proof. We observe that for u,t > 0,

E(/t " H(s)dB(s) | F) =0

Indeed this holds for step functions on [t, ¢ + u) as

n—

t+u 1
/t f(5)dB(s) = ) c;AB;

and E(AB; | F;) = E(AB;) = 0. For f € L*([0,T7), we can find step functions
fn — fin L?. Hence I,(f) — I(f) and

B([ 5B | F) = lim B( [ 5.(:)iB(s) | F) =0,
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We already see that each Y (¢) is a normal r.v. with mean 0 and variance

fot |f(s)|?ds. The covariance is
Cov(Y(1),Y(t +u) = BY®Y(t+u)
t+u
- BB O+ [ 6B | 7))
= BYOP) = [ Ifo)Pds

It is direct to that that the joint distribution (Y;,,---,Y:,) ~ N(0,%) with ¥

determined by this covariance.

To show that {Y;}/>0 is a martingale, we observe that E(|Y(¢)]*) =
fot |f(s)]*ds < oo and

EY(t+u) | F) = Y(t)+E(/t+uf(s)dB(s) | F) = Y(). O
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Exercises
1. Let X(t) = tB(t). Find the quadratic variation of of X ().

2. Find all constants a, b and ¢ such that X (t) = [}(a+bu/t +c(u/t)?) dB(t)

is also a Brownian motion.

3. Let B(t) be a Brownian motion. Show that X (¢) = fot(2t — u)dB(u) and
Y(t) = fg (3t — 4u)dB(u) are Gaussian processes with the same mean and

covariance functions.
4. Find the distribution of the integral fot B(s) cos(t — s)ds.

5. Given values of o for which the process Y (t) = fot(t —5)"*dB(s) is defined.
Find the covariance function of Y . (This process is called fractional Brownian

motion.)

6. Show that if {X,} is a sequence of normal r.v. and convergent in dis-
tribution to X, the X is either a normal r.v. or degenerate. Deduce that if

E(X,) — p and var(X,,) — 02, then X ~ N(u,0).
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3.2 Ito integral

In this section we define the Ito integral fOT X (t)dB(t) where X (t) is a stochas-
tic process adapted to F; = o{B(s): 0<s <t}

First we consider the case X(t) is a step process on [0, 7], i.e., there exist

0=ty <---<t, =T such that
X(t) :&, tz §t<ti+1, fz E]:ti and E(|§z|2) < 0Q.

We define
T n—1
I[(X) = / X(t)dB(t) = > &AB,.
0 i=0

Proposition 3.2.1. For the above integral I(-) on the step processes,
(i) I(-) is linear;
(i) for[a,b] € [0,T), [} X (H)dB(t) = B(b) = B(a);
(iii) E(f, X(t)dB(t)) = 0;
(i) E(Jy X(0dB(1)* = [ E(X(1)?)dt.

(Note that (iii),(iv) imply fOTX(t)dB(t) € L*(Q) is ar.v. on  with mean 0

and o2 = [} E(X(t)?)dt.)

Proof. For (iii), it follows from the independence of & and AB;,

E(fz‘ABi) = E(£i>E(ABi) =0.

For (iv), we write E(|I(f)|*) = >, ; E(&&;AB;AB;). Then using the in-
dependence, it is direct to show that only the i = j terms left, which is of the

expression on the right side of (iv). O
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We use L2,([0,T] x Q) to denote the space of measurable process X (-, -) on
[0,T] x Q satisfying

(i) X(t,-) is adapted to {F;}, i.e., X(¢t,-) € Fy;
(i) Jif E(X(t)?)dt < oo.

For example, X (t) = B(t) and X(t) = maxo<s<¢ B(s) are adaptable to
{Fi}; but X(t) = B(t + 1) is not adaptable to {F;} .

Lemma 3.2.2. Suppose X € L?,([0,T] x Q), then there exist a sequence of
step processes {X ™} C L2,([0,T] x Q) such that
T
lim [ E(X™(t) - X(®)|*)dt = 0. (3.2.1)
n—oo 0

Proof. The idea is similar to the Wiener integral, but a little more compli-

cated. We divide the proof into three steps.

(i) if E(X(t)X(s)) is continuous for any s,t € [0,T7], let P, = {0 =ty <
t1-+- <t, =T} be a partition of [0, 7], and let

XMW= X(t;), ;i <t <t

From the assumption, lim,_, E(]X(s) — X (¢)|*) = 0 implies that
lim,, oo E(|X™M(t) — X ()]?) = 0. As

E(IX™(t) = X(#)]°) < 2B(X™ @) + E(X (1)) < 4 sup E(X(s)]).

a<s<b

By the dominated convergence theorem,
T
lim [ B(| X™(t) - X(t) [})dt = 0.
n—oo 0

(ii) If X is bounded, then we will construct a sequence of process {Y,},

adaptable to {F;}, satisfies (i), and F(]Y,,(t)— X (t)]*) — 0. Then using (i), we
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can find a step process { X ™}, such that E(|X ™ () — E(Y,(t)|?) is sufficiently

small, and goes to 0 as n — oo. Then
E(IX™(t) = E(X(6)*) — 0,

which yields (3.2.1) as in (i).

To this end, we let ¢,(t) = ne " ¢ > 0. Note that ¢, > 0, [, = 1 and

©n(t)dt — 6o, hence it is an approximate identity. Define

Y,(t) =, x X(t) = /t ©n(s)X(t — s)ds.
0
It is direct to check that
(a) Y,(t) is adaptable to Fy;
(b) limyy E(|Ya(s) — Yo (y)|?) = 0, hence (i) is satisfied;
(©) Tt oo E(Ya(t) — X(H]2) = 0.

(iii) Finally, for the general X € L2,([0,T] x ), we can approximate X by

a sequence of bounded processes:

X(tw) if [zt w)| <n;
0 if | X(t,w)| > n.

X,(t,w) =
and a routine argument yields (3.2.1). O

Let X € L2,([0,T] x Q), and let X™ be as in Lemma 3.2.2. Let Y =
[ XM ()dB(t) € L*(Q). Then by Proposition 3.2.1 (iv)

T
ﬂww—wmm=/ mem—XW@mﬁ—+a
0

Hence {Y ™} is a Cauchy sequence in L?().
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Definition 3.2.3. For X € L?,([0,T] x Q), we define

:/OTX(t)dB = hm/ X t) € L*(9),

n—o0

and call 1(X) the Ito integral of X over B(t).

We remark that if X € L2,([0,7] x ) and assume that E(X(s)Y (¢)) is
continuous as in the proof of Lemma 3.2.2, then the integral can be expressed

as the Riemann sum

n—1

T
0 IPali=0 =

Example 3.2.1 fo (t)dB(t) = 3(B(T)* - T).

ForO=ty<---<t,=T,let
XMy =B(t;) t; <t <t

Then I(X™) = 37"} B(t;)AB;. Observe that a(b—a) = 1(0* —a®— (b—a)?).

Hence
1 n—1 1 n—1
I(X™) = 3 (B*(tiy1) — 52 ti1) — B(t:))?
1=0 =0
1 1 n—1
= —(B(T)? - ABZ
S(B(T) - )3

By taking limit, the second part is the quadratic variation of B(t), which
converges to T' (Theorem 2.3.2). Hence

1(B) = /0 B(t)dB(t):%(B(T)?-T).

Example 3.2.2. [ B(t)?dB(t) = 1B(T) — [ B(t)dt.



94 CHAPTER 3. STOCHASTIC INTEGRATION AND ITO CALCULUS

We adopt the same method as last example. By making use of a*(b—a) =

s(0® —a® — (b —a)® — 3a(b — a)?), we have

n—1 n—1 n—1
> B(t:)*AB; = %(B(T)3 —B(0)*) = > (AB;)* =3 B(t;)(AB)*. (3.2.2)
=0 1=0 =0
Note that
n—1 n—1 n—1
E(3 (AB)]") =Y E((AB)) =Y 15(tis — t:)* < 15||P,|[*- T,
=0 =0 =0

which tends to 0 as [|P,|| — 0. Hence 370 (AB;)* — 0 a.e. as well.

For the last term, we observe that

n—1 n—1 n—1
E(|Y BL)(AB) = > B(t)AL[*) = > 2:A87 < 2|[Py|- T — 0.
=0 =0 1=0

Hence the limit of the last term in (3.2.2) equals fOT B(t)dt.

Theorem 3.2.4. For X € L?,([0,T] x Q), the Ito integral

Y(t) = /0 X(s)dB(S)

has mean zero and variance o> = E(Y (t))? = [y E(|X(t)|?)dt. Moreover {Y},

s a martingale.

Proof. The first part is a consequence of the approximation by adaptable step
processes as in Lemma 3.2.2. The second part follows from the same proof as

for the Wiener integral (Theorem 3.1.7). O

In the following we consider the continuity of the sample path of Y (). We
need a continuous version of Doobs submartingale inequality (Theorem 1.4.9,

Corollary 1.4.10).
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Lemma 3.2.5. Let {Y (t)}+>0 be a submartingale and assume that almost all
sample paths of Y (t) are continuous. Then
AP(sup Y(t) > N < EY(T)").
0<t<T
Furthermore, we have

AP(sup [Y(1)] > A) < E([Y(T)]) -

0<t<T

Proof. The continuity of the sample paths allows us to write

{ sup Y(¢) ﬂ U { max Y( k:/2m)>)\——}

k
0<t<T ne=lme1 0Som=T

By applying Theorem 1.4.9 and Corollary 1.4.10 to the submartingale

{Y(1/2m)7 Y(Z/Qm)’ T Y(Z/Qm)a Y<T)} )

and taking limit, the lemma follows. U

Theorem 3.2.6. Suppose X € L2,([0,T] x Q), then the Ito integral {Y (t)}; is

a continuous process on [0,T1], i.e., almost all its sample paths are continuous.

Proof. We consider the step process first. Let X (t) = Z?:_Ol EiX[titisn)s Si € Fuy-
Then

k—2
= &GW)ABi(w) + &1(B(t,w) — Bltp1,w)).
=0
It is easy to see that Y'(-,w) is continuous as B(-,w) is continuous.

Next we consider the general case, let { X (™}, be a sequence of step stochas-

tic processes in L2,([0,T] x Q) such that

lim TE(] X(S) — X™(s) [*)ds = 0.

n—oo 0
By choosing a subsequence if necessary, we may assume that

/ " B(X(s) = X (s))ds < -

nbé’
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Let Y"(t) = [T X ($)dB(t), Y (t) = [ X(t)dB(t). Then by Lemma 3.2.4,

Psup [VO(6) = V(0] > 2) < nB(Y ™ () - YO 1)

0<t<T

Let m — oo, we have

P(sup [Y(t) =Y™(1)] > ) < nB([Y(T)-Y"™(T)))

0<t<T -

S|

1/2

< n (E(‘Y(T) — Y(")T)|2))
= n (T/O E(|X(s) = X"(s)[*)ds)"?
T1/2 B T1/2

Since Y n~% < co. By the Borel-Cantelli lemma, we have

P(sup [Y(£) = Y"(t)| > % o) =0.

0<t<T
Let A be the complement of the above set. Then P(A) = 1, and let B be the
set of w such that Y™ (-, w) is continuous for all n. Then P(AN B) = 1, and

for each w € AN B,
() 1
sup Y (t,w) = Y™(t,w)| < ~
0<t<T n
except for finitely many n. This implies that Y"(-,w) — Y(-,w) uniformly.

Hence Y (-, w)is continuous. d
In the rest of this section, we consider two important extension of the Ito
integral. The first one is to extend the integrand to a larger class of processes.
We use L,4(2, L?[0,T]) to denote the class of processes { X (t) }+>o such that
(i) X(¢) is adapted to {F:}e>o;
(ii) fOT | X (t,w) |? dt < oo a.s.
It is clear that if X (-,w) has continuous sample path, then (ii) is satisfied. Also

L2,([0,T) x Q) C Laa(Q, L*0,T))
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as X € L2,([0,T]xQ)), il E(|X(t)|*)dt < oo, which implies [, | X (t,w)[2dt <

o0 a.e.

Example 3.2.3. Consider X (t) = ¢#®)°. Then a direct calculation shows that

(L—4)712 if 0<t<i
E(X(t) =

00 otherwise

Hence X ¢ L2,([0,T] x Q). On the other hand X (-,w) is continuous a.e.,
J3 | X(t,w) [? dt < 00 ae., so that X € Laq(S2, L*[0,TY).

We can define the Ito integral as before using the following lemma.

Lemma 3.2.7. Let X € L4(Q, L?[0,T]). Then there exists a sequence of step
process X™ € L2,([0,T] x Q)such that

n—o0

T
hm/ﬁxw@—xwmhw
0

in probability.

The sequence X ™ (t) can be taken as the truncation of X (t) at level n:

X(t,w if th,w 2ds < m;
0 otherwise.

The resulting integral Y (t) = f(f X(t)dB(t) may not have finite expectation.

Hence is not necessary integrable, and we cannot consider the martingale prop-

erty of Y (¢) directly. Nevertheless, we can replace by the following local mar-

tingale.

Let 7, be the stoping time defined by

Tp(w) = inf{t : /o | X (s,w)|*ds > n}
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and let

tATh
Y(tAT,) = X (t,w)dB(t / XM™aB(t)
0

It is direct to show that for each n, Y (¢ A 7,,) is a martingale with respect to
{F:}. We say that Y (t) has the local martingale property. By using this we

can show that Y (¢,w) has continuous sample path for almost all w € €.

Next we consider extending the ”integrator” to more general processes. A

motivation of this is the following example. Consider X (¢) € L2,([0,T] x Q)

_ /TX(t)dB(t)

be the Ito integral. For convenience we can write it as

and let

dY (t) = X(t)dB(t).
Then it is reasonable to have a definition so that

T T
/ Z(t)dY (1) = / Z()X (1)dB(t).
0 0
Note that Y (¢) is a martingale (Theorem 3.2.4). The Ito integral theory can
be extended to fo t)dM (t) where M(t) is a martingale with respect to
some filtration {]—"t} In this extension, M (t) is not necessary continuous, for

example it covers the Poisson processes also.

For this the Doob-Meyer decomposition of submartingale plays an impor-

tant role. For a submartingale L(t), the decomposition is
L(t)=Z(t) + C(t)

where Z; is a martingale, and C(t) is a non-negative increasing process. (Recall
we have proved Doob’s decomposition for discrete time (Theorem 1.4.3).) A

basic application of this is on the submartingale M (¢)?. The decomposition is

M(t)? = Z(t) + C(t) which yields

E((AM;)*) = E(AC))
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where AM; = M (t;+1) — M (t;) corresponding to some partition. We can define
Ito integral fOT X (t)dM (t) similar to the Brownian motion case; and C(t) plays

the role of ¢ as the quadratic variation of B(t) :

3 K3

Hence

= E<E(Mi2+1 — M7 — 2M;(Miy1 — Mi)/]‘—ti))

= B(E(Z(ti) + Cltin) — (2(t) + C(1)/ 7))
= E(C(tiy1) — C(ta))

= E(AC))

The reader can refer to [3, p.75-92] for detail.
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Exercises

1. Let X = ff |B(t)|dB(t). Find the variance of the random variable X.
2. Show that X, = ef® —1 — %fg ePB)ds is a martingale.

3. Show that X(t) = fot eB©)’dB(s) is not a martingale.

4. Let M(t) = B3(t) — 3tB(t). Show that M (t) is a martingale, first directly
then by using Ito integral.

5. Let B (t), Bo(t) be independent Brownian motions. Let X (¢) = log(By(t)*+
By(t)?).

(a) Show that E(|X(¢)]) < oo for all ¢ > 0, and find E(| X (¢)]).
(b) Show that X (¢) is not a martingale, but a local martingale.

(The example shows that a local martingale having integrability does not need

to be a martingale.)

6. Let N(t) be the Poisson process. Show that N(t) = N(t) — At is a martin-
gale. Also find the Doob-Meyer decomposition for N ()2
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3.3 Ito formula
The following is the basic theorem of the Ito calculus.

Theorem 3.3.1. Let f € C*? on R, then any 0 < a <t

FB) = FB@) = [ FBEWBE +5 [ 1B (331)

Example 3.3.1. For f(x) = 22, we have

For f(z) = €', we have

¢ 1
Pl — Bl :/ ePdB(s) + 3 /eB(S)ds :

The main idea to prove Theorem 3.3.1 is to make use of the two term Taylor

polynomial:

flx) = flxo) = f'(wo)(x — x0) + 1/2f" (o + Mz — x0) + (2 — 20)?).

Hence for any partition of [a, t], we have

FBW) - F(B@) = SO(H(Bltn) — F(B(E)
N PBENAB, + 1723 FU(B(t) + AAB)(AB,.

=0

.

3

The first sum will converge to fat f(B(s))dB(s) by the definition of Tto integral.
The second sum will converge to the second integral of (3.3.1) due to the

bounded quadratic variation of B(t), it is proved in the following two lemmas.
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Lemma 3.3.2. Let g be a continuous function on R and let F, = {a =
to, -+ ,tn =t} be a partition of [a,t] and let 0 < \; <1, i =0,---,n. Then

there exists a subsequence

—_

n—

Zn = ' (9(B(t;) + NAB;) — g(B(t:))(AB)*> =0 a.e.

~
Il
o

as ||Pyn|| — 0.

Proof. let
&n = max [g(B(;) + AAB;) — g(B(4:))]

0<i<
0<A<1

Then |Z,| < & 37 (AB;)?. By the continuity of g(z) and B(t), & — 0
a.s. On he other hand, Y (AB;)?> — (t —a) in L*(Q). Hence it has a

subsequence converges to (t — a) a.e. The lemma follows from this. U

Lemma 3.3.3. With the assumption as in Lemma 3.3.2. Then

[y

n—

Su =) 9(B(t:))((AB)* = (tia —t;)) = 0

i

Il
o

in probability as ||P,|| — 0.

Proof. We first consider a truncation of B(t) at L > 0. Let
D {B(t:)| <L forall j <i}, 1<i<n.

and let

n—1

Sur = Y 9(B)) X, (AB)? Z Y

=0
We claim that E(S? ;) — 0 as ||P,|| — 0. Indeed, let X; = (AB;)* — (tiy1—t:)-
Then for i # j (say i < j),

E(YY;) = E(E(YY)|F,) = E(Y; 9(B(t))x 40 E(X; | Fi,)) =0
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On the other hand, note that Y;* < max|y) <z |g9(z)[?X?. Hence

E(Y?) < (max|(@)P)E(X?) = 2max|g(a)(tiar - 1)

- lz|<L |z|<L

It follows that

B(SE.) = Y B(Y?) < 2max|g(@) [Pl (¢~ a) >0

as [|An|] = 0, ie., S,z — 0in L? and in probability as well for ||F,|| — 0.

Next we observe that {S,, # S, 1} C {maxo<s<; |B(s)| > L}. This together

with Doob’s submartingale inequality (Lemma 3.2.6)

P(Sy# Sur) < Plmax B > ) < TE(B() = 11/

0<s<t LV =«

which — 0 as ||P,|| — 0.

Finally note that for € > 0,
{ISn] > €} {9l > e} U{Sn # Snr}-
This implies
P(|Sn] > €) < P(ISnLl >€) + P(Sn# Snr).

By the above, we have the right side < € for n, L large enough. Hence the

lemma follows. O

Theorem 3.3.4. Let f(t,x) be continuous function and has continuous partial

derivatives %, %, % Then
) )
f(6.B0) - f(a.B@) = [ S BoNs + [ (s, B)aBe)
+ = ta2f(s,B(s)))ds

2 ), 922
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We use the same idea as in Theorem 3.3.1.

f(t,l‘) - f(saﬁo) = (f(t,l’) - f(sz)) + (f(S,ZL’) - f(57$0))

= g{(3+p(t—s) )(t—s)—i—%(&ﬁo)(x—xo)
* 58_;;(8, w0+ Mz — 20))(z — 20)*.

Hence if we write f (¢, B(t))—f(a, B(a)) =Y, + > 5+ Y_5, then as in Theorem
3.3.1, we can show that the sums will converge to the respective terms a.s. We

omit the detail.

af 9 of 0% f
= — = — = — =2t
Example 3.3.2. Let f(t,x) = tz? , then " x°, . 2tx, and 3

Hence

tB(t)2 — /tB(s)st + Q/tsB(S)dB(S) + %tQ.

We can use differentials to express the integrals

df (B(t)) = f'(B(t))dB(t) + %f”(B(t))dt

for Theorem 3.3.1, and

8fd + Yaps) + la%fds

df = ox

for Theorem 3.3.4. Also we can write them as in the form of the fundamental

theorem of calculus.

(1) Let F(t) be the antiderivative of f(t), then
b 1 (b
[ rmanaso = @) - 3 [ oo

(2) Let F(t,z) be the antiderivative of f(t,z) with respect to z. Then

[ s mona = [re.se)] - [ O po)+ 5550 B0

a
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Example 3.3.3. Evaluate [) B(s)e?®dB(s).
Let f(z) = xze®, then F(x) = xe” —e* + ¢, f'(z) = ze® + €. Hence

/tB(s)eB(s)dB(s) = (B(t) — 1)ePW + % /t(B(s) +1)eP¥ds .

Definition 3.3.5. An [to process is a stochastic process of the from

X(t) = X(a)+/ go(s)dB(s)—i—/ P(s)ds

where (1) X (a) € F,; (ii) ¢, are stochastic processes in L2,([0,T] x ).

A short hand of this is dX (t) = ¢(t)dB(t) + 1 (t)dt.

Theorem 3.3.6. Let X (t) be an Ito process. Suppose 6(t,xz) is continuous

: . L 00 00 0%
and has continuous partial derivatives % 92 9t Then
£ o0
00.X) = 00X+ [ s xds
L oo 10%0 )
+ ) %(87)(5)@(5)653(5) + 5@(879(5)80(3) ds
L o0
—(s, X
+ [ G v
The proof is the same as before. Formally,
00 00 1 0%0 9
o = Edt + %dX(t) + 5@(@(@))
00 00 10%0 9
= Edt + %(go(t)dB(t) + ¢(t>dt> + 5@@(1&) dt .

Example 3.3.4. Let X(¢) = [, ¢(s)dB(s) — 1 [o ¢(s)%ds, 0 < t < 1. Then

1
deX®y = XOax(t)+ éex(t)(alX(zf))2
= OB ~ ot d) + 5Ot dr

2
= XWp(t)dB(t) .
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Example 3.3.5. Consider dX (t) = adB(t) — X (t)dt, X(0) = xy. Find X (¢)

for this stochastic differential equation.

Take 0(t, z) = e’*x. Then

de®X(t) = Bl X(t)dt +ePdX(t) +0
= B’ X (t)dt + e’ (adB(t) — BX (t)dt)

= adB(t).
Hence €' X (t) = xo + ozf(f e?*dB(s), i.e., the solution is

t
X(t)=ePlog+ a/ e Pt=9dDB(s).

0

Example 3.3.6. For dX(t) = aX(t)dt + 0X(t)dB(t), X(0) = x¢. By using

(s, z) = e®** then the solution is

X(t) _ xoe(afb2/2)t+bB(t) '

Example 3.3.7. For dX (t) = X (t)3dt+ X (t)*dB(t), by using 0(t, z) =

then the solution is
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Exercises
1. Complete Examples 3.3.6 and 3.3.7 .

2. Suppose X(t) satisfies the stochastic differential equation (SDE) dX (t) =
v(t)dt + o(t)dB(t). Assume X (t) > 0. Find the SDE of Y (¢) = /X (¢).

3. Find the SDE for X (¢) = cos(B(t)) and Y () = sin(B(t)).
4. Solve the SDE dX(t) = B(t)X(t)dt + B(t)X (t)dB(t), X(0) = 1.

5. Let B(t) = (Bi(t), Ba(t), Bs(t)) be the Brownian motion on R? starts at
a#0. Use f(z) = |z|~! to show that

1 ' By(s) .
1B(t)] | ;/ |B(S)‘3dBZ( ) -

6. Show that

is a Brownian motion.
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3.4 Two theorems on exponential processes

For a locally square integrable function f : R™ — R, we know that Y (¢) =

fot f(s)dB(t) is a normal random variable with mean 0 and variance o? =

f(f |f(s)|?ds. Hence

B 00y _ / o~ gy
27r0
= e et 62 fO |f |2d$
Let Z(t fo B(s) — %fot |f(5)|?ds, and consider e#®). Then E(e?®) =

E(e¥® )/ei Jo1£(s) |2d8 = 1, and it satisfies the SDE (see Example 3.3.4)

d(e?) = W f(t)dB(t),
ie.,
t
® — 1+/ f(5)e?WdB(s). (3.4.1)
0
Moreover, in view of the right hand side, {eZ®},5¢ is a martingale (Theorem
3.2.4 as Ito integral).

We first prove Ito’s representation theorem.

Theorem 3.4.1 (Ito’s representation theorem). For any Y € L*(Q, Fr, P),
there is a unique X € L2,([0,T] x Q) such that

+ / TX(t)dB(t). (3.4.2)

Lemma 3.4.2. Let D be the family of step functions
)= &xpn(), 0<t<T,
i=1

for someO0 =ty <ty <---<t,=T, and & € R. Then the linear combination
of the family
Ep = {eho F@BE=3 [ f&%ds ;¢ c DY

is dense in L*(Q, Fr, P).
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Proof. Let Y € L*(Q, Fr, P) such that
E(Y - eld F@aBE-3 [ F(9%sy — o yf e D.

We show that Y = 0. This implies £p is dense.

The identity implies

0 = B(Y-eXinbnh)

= E(B(Y - eXim&Ab

B(tl)a T vB(tn)))
= E(E(Y | B(ty), -, B(ty))e=i=585),

1.e.

- 1 S/
O ot / “ .. / y i tn €x s ’xn eéix’i e Q(tifti—l) dx e dxn
ll:ll l1, 5t ( 1 ) 27T(tz — tz;l) 1

We can consider &; to be any complex number by analytic extension. By Fourier

transform, we conclude that y, .., = 0, i.e., E(Y | B(t1),---,B(t,)) = 0.

Since tq,--- ,t, are arbitrary, we conclude that Y =0 w.r.t. P. O

Proof of theorem 3.4.1. The uniqueness follows from the isometry of the stochas-
tic integral: if X;(t), Xs(f) are two representations in (3.4.2), then 0 =
[T (X0 (t) — Xo(t))dB(t), which implies 0 = [ E((X,(t) — Xa(t))?)dt. Thus
Xi = Xo.

Let ) denote the class of random variables that (3.4.2) holds. Then by
Lemma 3.4.2 and (3.4.1), D C Y. We show that Y is closed in L*(Q, Fr, P).

Then the theorem follows.

Let Y, € Yand Y, — Y in L3(Q, Fr, P), then there is X(™ € L2 ([0, T]x)
such that
T
Y, = BE(Y,) +/ X" (s)dB(s).
0



110 CHAPTER 3. STOCHASTIC INTEGRATION AND ITO CALCULUS

As {Y,,} is Cauchy, and
T
B(Y, - EW)P) = o, = [ B(X"(5))as.
0

The isometry implies X ™ (s) is Cauchy in L2,([0,T] x €2). This implies that
X — X for some X € L2,([0,T] x Q) and Y = E(Y) + [} X(s)dB(s). This

completes the proof. O

Theorem 3.4.3 (Martingale representation theorem). Suppose {M; : t €
[0, T]} is a martingale with respect to Fy and E(M?) < oo. Then there erists
a unique X € L2?,([0,T] x Q) such that

M, = E(My) +/0tX(s)dB(s).

It follows that the sample path M; is continuous.

Proof. Applying Ito’s representation theorem for Y = M;, we have
T
My = E(M7) + / X (s)dB(s).
0
Hence for 0 <t < T, we obtain

M, = E(Mr|F) = E(My)+ E / X(s)dB(s) | F)

- E(M0)+/O X(s)dB(s).

Example 3.4.1. For Y = B(T)3, by Ito’s formula

B(T)* = /OT 3B(t)%dB(t) +3/OTB(t)dt,

and by integration by parts

/OTB(t)dt:TB(T)—/OTtdB(t):/OT(T_t)dB(t)‘

Hence
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Our next theorem (Girsanov theorem) says that a B.M. with drift (e.g.
B(t) + At, can be seen as a B.M. with a change of probability.

First we observe that for any random variable L on (2, F, P) such that
E(L) =1. Then
Q) = Beal) = [ Lap

A
defines a probability measure on 2 with % =L, and for Y € LY(Q, F,Q),

Eo(Y) :/YdQ:/Y-LdP:Ep(Y-L).

Example 3.4.2. Let X be a normal random variable N(m,o?). Consider

m

m2
L =e >*%22 Then E(L) = 1. Let Q be the probability such that %2 = L.

dP
Then

it X it X 1 > —7(9377”)2 _M+L2+‘t o2t?
Eqg(e™) = Ep(e"™ - L) = 5 e 207 o222y = 2,
70 J oo

It follows that X is a normal random variable N(0,0?) w.r.t. Q.

For fixed A > 0, and for L; = eAB(t)_%t, {Li}+>0 is a martingale with

E(L;) =1 and satisfies
t
0
We see that Ly is the density of the probability space (€2, Fr, Q) with
Q(A) = E(XALT)a for A € Fr.

The martingale property implies that for any ¢ € [0,7], @ in (2, F;, P) has
density L; with respect to P, i.e., if A € F;, then

Q(A) = E(xalLr) = E(E(xalr|F))
= E(aE(Lr | Ft)) = E(xals).
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Theorem 3.4.4 (Girsanov). In (2, Fr, @), the stochastic process Wy = B(t)—

At is a Brownian motion.

Lemma 3.4.5. Suppose X € L'(Q2, F, P) and G C F is a o-field such that

EE™*|G)=e 2.

Then X is independent of G and is a normal random variable N (0, 0?).

Proof. For any A € G, by the definition of conditional expectation,

E(XAeiuX) — /eiuXdP — /E(equ|g)dP
A A

— / T AP = ¢ 'F P(A).
A

Choosing A = €, the characteristic function is

Ee)=e "2 .
This implies X ~ N(0,0?).

To show the independence, for any A € G, the c.f. of X with respect to
the conditional probability of A is

1202

B | A)y=¢ "2,

hence it is again a normal random variable N(0,0?), i.e., the law of X given

A is again a normal distribution:
P(X<z|A) =®(z/o).

Hence

P((X < 2)NA) = P(A)d(z/o) = P(A)P(X < z).

This implies X and G are independent. O]
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Proof of Theorem 3.4.4. Tt suffices to show that with (2, Fr, Q) and s < t <
T, the increment W; — W, is independent of F; and is a normal random variable

N(0,t — s).

We claim that for A € F,,

2

Eglac™ ™)) = Qe 517,
then Lemma 3.4.5 and the proof imply the theorem. Indeed,

Eq(xae™ ™ ™")) = E(yae™" ML)

zu(B(t —B(s))— iu)\(t—s)-ﬁ-)\(B(t)—B(s))—%(t—s)LS)

I
Uj

A) (m+)\) (t—s)—iuA(t—s)— %(t—s)

|
O

(X4
(Xa
—  E(xaLs) E(emNBO-BE), —iuA(t—s)— 22 (t—s)
(
(

= QA)eE ),

Theorem 3.4.6. Let {0, }o<t<r be adaptable to {F}+ and E(e%foTe?dt) < 00.

Then the process
t
W, = B(t) —/ sds
0

18 a Brownian motion with respect to () defined by

L, = elo 0s4B(s)=5 [y 02ds

(Note that L, satisfies dL; = 0,LdB(s), ie., Ly = 1+ fot 0sLsdB(s) and
E(L) =1)
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Example 3.4.3. Let 7, = inf{t > 0 : B; = a}, and let %L—ct = L;, where

A2
Lt — e)‘B(t)_Tt_

We calculate Q(1, < 00). It is equivalent to P(7, < o0o) for Wy = B(t)+ At.

Q(ra <t) = E(X{ra<tyLt)

X{Tagt}E(Lt | fTa/\t))

Il
&

(
(

I
&

X{TaSt}LTa/\t>

Il
&

(X{Tagt}LTa)

_1 2Ta
X{Ta St}eAa 2 A )
t

6)\a7%)\28f(8)d8,

I
s— =

2

where f is the density of 7,, f(s) = \l/%s_%e_%s.

Hence with respect to @), 7, has density

la|  _@9)?

m@ 2s s> 0.
Letting ¢ — oo, we see that
Q(Ta < OO) _ e)\aE(e—%)\Qq—a) _ 6>\a—|/\a|
1, if Aa > 0,

e, if A\a < 0.



